Slide Unit

Series CXWM/CXWL

Slide bearing/CXWM: 210, 616, 620, 9625, 632
Ball bushing bearing/CXWL: 610, 616, 620, 0625, 032

Provided with shock Mountable on the housing or on the
absorbers to absorb plate.
impact and nOise. The slide unit can be mounted on the housing or on the plate, depending

on the application. It can also be bolted from the bottom or from the top.
The piping can be fitted to the port in any of the three positions, according
to how the unit is mounted.

The slide unit can absorb energy in a wide
range, in high-speed, low-load applications
to low-speed, high-load applications, without
requiring adjustments.

Ensures high positional
accuracy

<Affixing the plate>

it — U=
i —

A high level of positional accuracy can be Mounting from the & Mounting from the
attained because the two parallel piston bottom side upper side

rods prevent the rods from rotating, and the - .
. . : <Affixing the housing>
workpiece mounting surface and the parallelism

of the piston rods are made highly precise. [‘,&ﬁg

C fh—— 3
- Mounting from the
Auto switches can be g .
. bottom S|de upper side
installed.
I Smooth operation and
high thrust.
Variations
Bore Mounting
Bearing Model size Stroke (mm) Accessory | of autﬁ Page
switc
25 50 75 100 125 150 175 200
Series CXWM 210
Built-in shock absorber
Slide unit _ 216
Slide ﬂ == || 920 2-66
- e /’ﬁl:
il -~ - 225
E -'-'Tg -
L 032
L |
Series CXWL
- - iy e10
Built-in shock absorber
016
Ball % | | 920 .
bush- ) A& 291
ing . "I 925
\
232
Note 1) Only E type reed switch is applicable as an auto switch when mounting a housing of 210.
Note 2) The shock absorbers are to be mounted on the both sides for the 25-stroke of
Series CXWM10 to 25.
Note 3) The shock absorber is to be mounted on one side of the plate for the 25-stroke of
Series CXWM20, CXWM32, CXWL32 and 50-stroke of Series CXWM32.
2-61

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION

r
2-62 < SNVC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION

Precautions Series CX

A\ Precautions

A Warning

(DTake precautions to prevent your fingers or hands from getting
caught between the plate and the housing.

@ Exercise extreme caution when the cylinder is operating, to prevent
injury to your fingers or hands.

/\ Caution

(DMake sure that the cylinder mounting surface is flat (a flatness
of 0.05 or less {reference value}).
If it is not flat, it could lead to a malfunction.

(@Make sure not to scratch or gouge the cylinder mounting
surface.
Be aware that if the flatness of the housing mounting surface or the
mounting surface of the plates on both sides is affected, it could lead
to a malfunction.

(3Be careful not to twist the two piston rods.
If the piston rods are twisted or bent when mounting the housing, the
operating resistance could become abnormally high or the bearings
could wear prematurely, leading to reduced accuracy or air leakage.

(®Consider reinforcing the plates.
When the cylinder is mounted on the housing, and the plates are used for
high-speed operation or used as a pusher, use a connector plate to bridge
both plates. Failure to do so could cause the snap ring to become detached
or the set screws to shift, causing the plates to fall off.

/A Caution

Precautions for handling the end lock mechanism

(DDo not use a 3 position solenoid valve.
Avoid using this cylinder in combination with a 3 position solenoid
valve (particularly the closed center metal seal style). If air pressure
becomes sealed inside the port of the side that contains the lock
mechanism, the lock will not engage. Even if the lock is engaged
at first, the air that leaks from the solenoid valve could enter the
cylinder and cause the lock to disengage as time elapses.

(2Before starting, make sure to supply air to the retraction side
to provide back pressure.
Failure to do so could prevent the lock from disengaging. It is
dangerous to supply air to the extension side when the air in
the cylinder has been discharged, as the cylinder could operate
suddenly.

(3Disengage the lock before installing or adjusting the
cylinder.
The lock could become damaged if the cylinder is installed with its
lock engaged.

(9Operate the speed controller under meter-out control.
If operated under meter-in control, the lock might not disengage.

(®Adjust the stroke within the range of the slotted hole of the lock
finger.
As the hole for mounting the lock finger is slotted, the lock finger
may be adjusted and mounted in accordance with the adjustment
amount of the adjustment bolt. The adjustment amount of the
adjustment bolt is £2mm (x1mm for each side).

(®Regarding manual disengagement
Insert a phillips screwdriver through the lock finger hole to push the
lock piston down and slide it in the unlocking direction. When doing
so, take precautions to prevent your fingers or hands from getting
caught between the housing plate and the lock.

ZS\VC

A\ Caution

Precautions for handling the shock absorber

(DDo not expose the shock absorber to machining oil, water, or
dust.
The RB series cannot be used under conditions in which fluids such
as machining oil or water are present in atomized form or come in
direct contact with the piston rod, or in which dust could adhere to
the piston rod. Such conditions would cause malfunction.

(@Do not operate the shock absorber in an environment that
poses the risk of corrosion.
The shock absorber could rust if used in an environment that poses
the risk of corrosion. Refer to the respective construction drawing for
type of material that is used in the shock absorber.

(3Tighten the retaining nuts to the torque values given in the

dalolo loal

Model of shock absorbers| RB0805 RB1006 RB1411
Applicable slide unit | CXWM]3-25 | CXWM32-25 CXWh2-25,50
CXWL32-25
Thread O.D. (mm) M8 X 1.0 M10 X 1.0 M14 X 1.5
Thread prepared hole size (nm)| ~ 27.1%5" 29.1*3" 212.7*5"
Nut mou'r\lltri:g torque 167 3.14 108

(®Do not scratch the sliding portion of the piston rod or the
outside threads of the outer tube.
Do not scratch or gouge the sliding portion of the piston rod or
the outside threads of the outer tube by striking it with an object,
squeezing it, or by forcefully wedging a set screw in it. Failure
to observe this precaution could damage the seals, which could
lead to oil leakage and malfunction. Furthermore, scratches or
gouges on the outside threads of the outer tube could prevent the
shock absorber from being mounted onto the frame, or its internal
components could deform, leading to a malfunction.

(®Never turn the screw on the bottom of the body
(it is not an adjustment screw), as this will cause oil leakage.

Do not turn
the bottom
SCrew

o

Piston rod

===

]
Do not scratch

(6Make sure that the retaining nut is not loose.
The shock absorber could become damaged if it is used in a loose
state.

(7Pay attention to any abnormal impact sounds or vibrations.
If the impact sounds or vibrations have become abnormally high, the
shock absorber may have reached the end of its service life. If this
is the case, replace the shock absorber. If use is continued in this
state, it could damage the equipment to which the shock absorber
is mounted.

2-63

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CX
Prior to Use

] Comparison on the starting pressure by the moment (Reference data for selection a slide bearing or a ball bushing bearing) \

1

—— CMWM (Slide bearing) —

--------- CXWL (Ball bushing bearing)

Comparison on the starting pressure with the load

mounted and the moment added

Note) The diagram below does not show the
allowable moment. It compares the starting
pressure of the slide bearing to that of the

L}

gy

]

)M (Moment)

ball bushing when the load of the moment is ] L \F
applied to the bearing. =t
CXW[I10-25stroke CXW[16-25stroke CXW[J20-25stroke
040 __0.40 .
© © | — © 0.40
So3s So3s — < |
2 = S 0.35
Lo.30 Lo30 g
g r=—-F--"|7 "7 a 2 030
go2s go25 === g
0.25 = ===
20.20 20.20 2
@ V425 150 175 20 @ " 35 40 45 50 @ S
> 65 70 75 80
Moment (Nm) Moment (Nm) Moment (Nm)
CXW[25-25stroke CXW[132-25stroke
© 0.40 T 0.40
s s
5 0.35 // E 0.35
2 030 — 3 0.30
o I L —
S 025 N P S 025 —
£ £ - —|==---1
£ 020 € 0.20
] = S oA
2 « 2 (
”" 90 100 110 120 —% 200 220 240 260
Moment (Nm) Moment (Nm)
Maximum allowable moment/ CXWM, CXWL \ ’ Allowable kinetic energy
Operate within the operating range and under the allowable moment indicated in Operate at a load mass and cylinder speed within the
the table below. range given in the diagram below. To adjust the cylinder
CXWM (Slide bearing) speed, use a speed controller.
— T = CXWL (Ball bushing bearing)
20 Allowable kinetic energy of the slide unit
Load weight and cylinder speed should be within the
- 10 =" range indicated in the graph below.
E = |25
= . Tt =iz
é : —= -5 /,: =~ AT76 Mt M2 %
P50 % == B 2 \
— 2 — = /] / I \
=3 (=7 \ |
‘21:: 1 10 \ C>I( Ifs‘lz__
£ NN
1} 110 —~ CXWL 25
€ o5 + 3 NN Cxwmos
g o 4 s Corah]
§ 03 s 'E” 4 CXWI
—_. [
2 05 ER
< . 1 el
g , \
/K \
01 26 50 75 100 125 150 175 200
Cylinder stroke (mm) 4 CXWCH
Allowable moment (M2) (Nm)
Bore size (mm) 10 216 220 025 932 05
CXWM 0.108 0.549 0.809 1.029 2.695 10 50 100 200 300 200 1000
CXWL 0.108 0.549 0.809 1.201 2.695 Cylinder speed (mmys)
Note) M2 is steady regardless of the strokes.
2-64 % S\VC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION

Series CX
Prior to Use

(D Changing from the non-auto switch specification to the auto switch specification
(2) Changing mounting style of the auto switch specification

Series CXWY

@ In the CXW Y series, to change from the specification without auto switch to the plate mounting style with auto switch or to the housing mounting style
with auto switch, refer to tables 1 and 2 before ordering.

Without auto switch/ CXWI\L’I D—D

Plate mounting style
with auto switch

Housing mounting
style with auto switch

CDPXWY 1S+
CDBXWY [ IM-]

--Table 1

--Table 2

@ In the CXW ) series, to change from the plate mounting style with an auto switch to the housing mounting style with an auto switch or vice versa, refer to

tables 1 and 2 before ordering.

Plate mounting style
with auto switch

Housing mounting
style with auto switch

Table 1.
No. of component parts

CDPXWY 1S}

CDBXWY! [IMH]

Plate mounting style with auto switch (CDPXW"{'EIEI-D)/Component parts for mounting switches and

--Table 1

-.Table 2

010 | 016 | 020 | 025 | 032
(3) Applicable models for switch mounting
Description Material ” ” ™ " "
CDPXW |[CDPXW |'|CDPXW '|CDPXW |'([CDPXW "
10S-0 |16S-0 |20S-0 |[25S-0 |32S-00
Switch mounting block Aluminum alloy 1 1 1 1 1
Block mounting screw Chrome steel/Nickel plated 2 2 2 2 2
Screw for mounting Chrome steel/Nickel plated 2 2 2 2 2
Hexagon screw Carbon steel/Nickel plated 2 2 2 2 2
Magnet Rare earth magnet 19| — | — | — | —
Socket Brass/Electroless nickel plated 2 e o
Plug (M-5P) Brass/Electroless nickel plated 2 — —

Note 1) "O" mark indicates strokes.

Note 2) In the case of 810, the 25mm stroke has two magnets that are bonded in the holes on the side of the housing.
Those with strokes of 50mm to 100mm have one magnet. Those with other bore sizes have a built-in magnet in their housings.
Note 3) For a model of assembly for mounting switch, list COPXWMOO-O for Series CXWM and CDPXWLOO-O for Series CXWL.

Table 2. Housing mounting style with auto switch (CDBXW!'CI0-01)/Component parts for mounting switches and

No. of component parts

610 | 016 | 020 | 025 | 032
e . Applicable models for switch mounting
Description Material
coBxw"coBxwcoBxw ' icoBxwcpBxw!
10M-0 |16M-0 |20M-O0 |25M-0 |32M-O
Magnet mounting block ass'y Aluminum alloy 1 1 1 1 1
Switch mounting rail Aluminum alloy —_— 1 1 1 1
Interface Mounting block mounting screw 2 — — — —
Block mounting screw Chrome steel/Nickel plated 2 2 2 2 2
Screw for mounting rail Chrome steel/Nickel plated — 2 2 2 2
Screw for mounting switch Chrome steel/Nickel plated 2 2 2 2 2
Hexagon screw Carbon steel/Nickel plated 2 2 2 2 2
Hexagon head cap plug Chrome steel/Nickel plated 2 2 2 e —

Note 1) "[O0" mark indicates strokes.

Note 2) In case of 810, CDPXW100 can NOT be changed to CDBXW10-01.
(CXWY10-0 can be changed to CDBXWY'10-01)
Note 3) For models of assembly for mounting switch, list COBXWMOO-O for Series CXWM and CDBXWLOO-O for Series CXWL.

Y
< SVC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl

2-65



AIMOTION

Slide Unit/Built-in Shock Absorber

Series CXWM

Slide Bearing/o10, 616, 620, 25, 032

How to Order

Standard CXWM(16—1

50

1

||

c[DBlxwm[16H1

50| M

A73

Cylinder with auto switch l

l Number of auto switches

Symbol | Specifications/Mounting — 2
With auto switch/ S 1
DB . )
Housing mounting n
With auto switch/
DP .
Plate mounting .
. ® Auto switch
Bearing ¢ — | None
M | Slide bearing + Refer to the table below for the part
. . numbers for auto switches.
Cylinder bore size/Stroke (mm) e
o End lock
210 |(25), 50, 75, 100 = With end Iock
ith end loc
16 | (25), 50, 75, 100, 125, 150, 175, 200 N
— one
220 |(25), 50, 75, 100, 125, 150, 175, 200
@25 |(25), 50, 75, 100, 125, 150, 175, 200
232 |(25), (50), 75, 100, 125, 150, 175, 200
Note 1) For the strokes indicated in the parentheses of the 810, 816 and 925, shock absorbers are to be
mounted on both sides of the plate. For the strokes indicated in the parentheses of the 220 and 32,
a shock absorber is to be mounted on single side of the plate.
Note 2) Refer to p.2-67 for the strokes other than those indicated above.
Note 3) For 916, 20 and 225, strokes up to 300, and for 832, strokes up to 250 are available as made to order.
(-XB11)
Applicable Auto Switches
S . Load voltage Auto switch model Bore size Wire length (m)*
aal| = | Wirin i
q . |Electrical | %5 g : ) Applicable
Style | Special function entry | S| (Output e A Electrical entry | Housing| Plate | 0.5 | 3 | 5 | —
y 2 & Perpendicular| In-line | mounting| mounting| (—) | (L) | (2) | (N) load
3wires |—| 5V — — | A76H ® & —|—| IC | —
(%2}
Grommet o — 200V A72 | A72H 16 210 o & — —
12V 100V A73 A73H 20 016 ® 0 0 —
= (-
S 2| 2wires |pqy [5V.12V[100Vorless. A80 | ASOH | 025 i;g O EEE
& e N - 12v | — [Aasc| — | 92 | °C (@ (@@ — |reny
onnector [
8 2 5V, 12V |24V orless| ABOC | — ®ejejo| |rc
“: g| 3wires |—| 5V — | — | E76A oo —|—
Grommet| > ) 12V | 100V — | E73A | @10 — | ® | @|—|—| —
o1 2wires |24V
2 5V, 12V {100V orless| —— E80A ® O ——| IC
3wires (NPN) F7NV | F79 ® 0 O|—
——— 5V, 12V IC
. Grommet| |3 wires (PNP) F7PV | F7P ® 0 O —
2 wires 12V F7BV | F79 ® 6O —|
S Connector J79C — 16 10 [ N AN BN J
= o
| ndicat 3 wires (NPN) SV 12V FINWV| F79W | o) | o16 | @ (@O |—|
o "7
2 'ag?é’sfi.ﬁuﬁmn 2 | 3vires (PNP) | 24v | — | — | FPw | o25 | 220 | @ |@|O|— Eﬁ'éiy
% . F7BWV| J7ow | 932 | 95 @ [@|O|—
8 Water resistant Gi 2 wires 12v 032 -
g (2 colour) rommet - F7BA —_— . O —
With timer 3 wires (NPN) 5V, 12V — | FINT — | @®@|O|—
IC
With diagnoses output 4vires (NPN) — F79F ® 0 O —
(2 colour) — F7LE ® OO —| —
* Symbols for wire lengths ~ 0.5m =+ — Ex) A8OC  5m - Z Ex.) A80CZ = The solid state switches marked with "(O" are produced after orders are received.
3Meeseesens L Ex) A80CL — - N Ex.) A80CN =+ D-F7LF type is not mountable to Series CDPXW.
2-66 % S\VC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Built-in shock absorber
This is a built-in shock absorber style in
which the shock absorber is enclosed in
the housing. Compared to the CX2 series
with shock absorber, this style achieves
space savings in the longitudinal
direction (except for the 25mm stroke).

AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

Specifications
Style Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating CXWMH10, 16 0.15MPa
pressure CXWM20, 25, 32 0.1MPa

Ambient and fluid temperature —10°C to 60°C (No freezing)
30 to 500mm/s

Shock absorber

Piston speed (Non lubricating)

Dramatically reduced

installation labour

The machining precision required for
positioning during the installation of the
cylinder has been reduced through the
adoption of a special pin hole machining
process, thus decreasing the amount of

Cushion

Stroke adjustable range Standard stroke £2mm
Straight knock pin (2 pcs.), Adjusting bolt™ (-X138)

+ "-X138" has a stroke adjustable range of 12.5mm on one side.

Max. Movable Load/Non-rotating Accuracy/Max. Holding Force

Accessory (Option)

labour involved in adjustment. Model CXWM10 | CXWM16 | CXWM20 | CXWM25 | CXWM32
Max. movable weight* 1kg 4kg 5kg 6kg 10kg
Provided with an end lock ,
R Non-rotating accuracy

mechanism (Deflection of a piston |  +0.09° +0.03° +0.03° +0.02° +0.01°
An end lock is also available, which rod is not included.)
maintains the cylinder’s original position

i f i Max. holding force
even if the air supply is interrupted. (End lock model) 39.2N 98.1N 147.1N 245.2N 392.3N

= Place the centre of gravity of the load and centre of the slide unit close during operation. If they are placed far
apart each other, consult SMC.

Shock Absorber Specifications

Shock absorber (1) RBOBOS-X552‘R30805 RB1006-X552|RB1006 |RB1411-X552[RB1411
Applicable slide unit CXWM10, 16-0000 | CXWM20, 25-C101 CXWM32-00
Max. absorbed energy 0.98 3.92 14.7
Absorbed stroke (mm) 5 6 11

Max. collision speed (m/sec) 0.05t0 5

Max. operating frequency (cycle/min) (2) 80 70 45

Max. allowable thrust (N) 147 353 667
Ambient temperature (°C) —-10to 80

Spring force Expanded 1.96 4.22 6.86

(N) Compressed 3.83 6.18 15.30
Weight (g) 15 25 65

Note 1) "-X552" is an exclusive shock absorber installed in the housing, and is the screw not attached
specification of the outer part of the outer tube. The shock absorber plate mounting style of 25 and 50
strokes are have the screw attached specification.

Note 2) Maximum absorbed energy per one cycle. The operating frequency can be increased in compliance
with the amount of absorbed energy.

Theoretical Force (N)
Model Rod size | Piston area Operating pressure (MPa)

(mm) (mm2) 02 | 03| 04 | 05| 06|07 ]| 08] 09
CXWM10-00 6 101 20 | 30 | 40 | 51 | 61 | 71 | 81 | 91
CXWM16-00 10 245 49 | 74 | 98 | 123 | 147 | 172 | 196 | 221
CXWM20-000 12 402 80 | 121 | 161 | 201 | 241 | 281 | 322 | 362
CXWM25-00 14 597 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
CXWM32-00 20 980 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882

Note) Theoretical force (N)=Pressure (MPa) X Piston area (mm?2)

Standard Strokes

o Standard stroke (mm)
25 50 75 100 125 150 175 200
CXWM10-00| (1) (¥) ° ° P - - - -
CXWMIE-OD| (1) () | @ ° ° ° ° ° °
CXWM20-00| (2) (*) o [ J (] (] (] (] L
CXWM25-000| (1) (*) o [ J [ (] L (] ®
CXWM32-00| (2) () | (2) (%) [ J [ J (] (] (] [ J
Note 1) The strokes marked with "(+)" has an absorber of double sides plate mounting style.
Q Note 2) The strokes marked with "(x)" has an absorber of single side plate mounting style.
2 S\NC 2-67

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CXWM

AIMOTION

Weight (kg)
Stroke (mm)
Model
25 50 75 100 125 150 175 200
CXWM10 028 | 035 | 042 | 049 — — — —
CXWM16 046 | 059 | 072 | 085 | 098 | 1.11 124 | 1.37
CXWM20 069 | 087 | 103 | 122 | 140 | 158 | 175 | 193
CXWM25 095 | 117 | 138 | 160 | 182 | 203 | 231 2.47
CXWM32 2.01 238 | 277 | 316 | 356 | 394 | 434 | 472
Additional Weight for End Lock Model (CXWM-CIR) (kg)

Applicable model

Additional weight

CXWM10 0.08
CXWM16 0.14
CXWM20 0.15
CXWM25 0.20
CXWM32 0.43

Operating direction per pressurized port

Operating direction of the housing when the
plate part is fixed

Y =F 1@
—_——e ] — _
B s | a
@ E Standard side of housing
{Mounting side)
= A 1]
EPEOdd LT Pt

Operating direction of the housing

With end lock (CXWM-CR)
Operating direction of the housing when
the plate part is fixed

8 8
| |
[ ] = = |a
o= m=gl
Standard side of housing
(Mounting side)
g : .
?\'\\\\ R

Operating direction of the housing

Pressurized port A|B|C|D|E|F

Pressurized port | A [B [C | D[E[F [G [H

Operating direction  |Right|Left|Left|Right|Left Right

Operating direction [RightLefLeftfight[Right]Left|LeftRignt

* There are 9 possible reciprocating piping methods.

* There are 16 possible reciprocating piping methods.

’ Deflection of the piston rod by center loading (Reference) ‘

When centre loading is applied to the middle of

When centre loading is applied to the middle

the housing of the plate Defisction it
J TITT L TTTTITTTT
(mm) (mm)
Stroke Stroke
Model 100 200 Model 50 (100 | 150 | 200
Load (N) Load (N)
CXWM10 9.81 0.07 — CXWM10 | 294 |0.06({030| — | —
CXWM16 39.2 0.05 0.20 CXWM16 | 4.90 [0.03|0.10|0.25|0.45
CXWM20 49 0.04 0.15 CXWM20 | 7.84 [0.03|0.09|0.18|0.35
CXWM25 58.8 0.02 0.08 CXWM25 | 9.81 [0.03]0.09|0.16|0.25
CXWM32 98.1 0.02 0.07 CXWM32 | 29.42 |0.02|0.05|0.10|0.15
Note) The factors are the total widths of deflections
in the vertical direction.
2-68 % SMC

Accessory (Option)

Straight knock pin
g8
(=l =]
T
=]
o S
]
i
L
(mm)
Model L oD Model*
CXWM10 10 4 MS4-10
CXWM16 10 5 MS5-10
CXWM20 15 6 MS6-15
CXWM25 15 6 MS6-15
CXWM32 20 8 MS8-20

* Manufactured by Sansumi Trading Ltd.

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

Construction: ﬂ1 0, Q1 6, Q25

CXWM10

"1$|
=

—3)

With end lock

CXWM16, 25

RIARSPIBBIBAD

016/With end lock 025/With end lock
Component Parts Component Parts/With end lock

No. Description Material Notes No. Description Material Notes
@ | Rod cover Aluminum bearing alloy @3 |Body for locking Aluminum alloy Hard anodized
@ | Housing Aluminum alloy Hard anodized @ |Lock finger Alloy tool steel Nickel plated after quenched
® | Piston Aluminum alloy Chromated @ |Lock piston Carbon tool steel  |Nickel plated after quenched
@ | Piston rod Carbon steel piping for machine constructions| Hard chrome plated 2 |Rod cover Aluminum alloy
® | Plate Aluminum alloy Hard anodized Return spring Spring steel Zinc chromated
® | Lock nut Carbon steel Nickel plated @ |Adjusting bolt Chrome steel Nickel plated
@ | Adjusting bolt Chrome steel Nickel plated Body gasket NBR

Set screw @) |Rod seal NBR
(For fixing rods) Chrome steel Nickel plated @ | Piston seal NER

Set screw . 33 |Steel ball High carbon chrome bearing steel
® (For fixing shock absorbers) Stainless steel Steel ball High carbon chrome bearing steel
Set ring Carbon tool steel Nickel plated @5 |Oring NBR
D | Plug Brass Nickel plated Round R set ring Carbon tool steel Nickel plated
@ | Magnet Rare earth magnet @5 @) |Lock nut Carbon steel Nickel plated
(3 | Set screw for seal Chrome steel Nickel plated Plug Chrome steel Nickel plated
(9 | Spring Stainless steel
@5 | CR set ring Carbon tool steel Replacement Parts: Seal kits
Round R set ring Carbon tool steel Nickel plated Model Kit No. Contents
e |tk ol ptd MO OKWMIOPS g sl 2, s el 2

CXWM16 CXWM16-PS a cylinder tube gasket 3
Gasket NBR CXWM25 CXWM25-PS are included in one set.
@ | Rod seal NBR — - -
7 | Piston seal NBR #* The seal kit includes a rod seal @ a p|§ton seal @) aqd a cylinder tube gasket 3.
List the order numbers in compliance with the respective models.
@ | Piston gasket NBR (The piston gasket is not replaceable.)
@ | Cylinder tube gasket NBR
2 S\MC 2-69

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWM

Construction: Q20, Q32

B® ©a0208000© @

O ol
o E— =
e O oL o=
— FI — e
o ©) O F
With end lock

HT e 0 00 600 ©
St

0 51{—5-5 -
i B —

Component Parts Component Parts
No. Description Material Notes No. Description Material Notes
(D |Rod cover Aluminum bearing alloy — (1 | Body for locking Aluminum alloy Hard anodized
(2) [Housing Aluminum alloy Hard anodized (@ | Lock finger Alloy tool steel Nickel plated after quenched
(3) [Piston Aluminum alloy Chromated (3 | Lock piston Tool steel Nickel plated after quenched
() |Piston rod Carbon steel for machines| Hard chrome plated (4) | Rod cover Aluminum bearing alloy
(5 [Plate Aluminum alloy Hard anodized (5 | Steel ball High carbon chrome bearing steel
(6 |Adjusting bolt Chrome steel Nickel plated (6 | Steel ball High carbon chrome bearing steel
7) | Hex. socket head cap screw Chrome steel Nickel plated 7) | Round R type setring| Carbon tool steel Nickel plated
8) |Set ring Tool steel Nickel plated 8) | Return spring Spring steel Zinc chromated
9) |Magnet Rare earth 9 | Plug Chrome steel Nickel plated
10 |Spring Stainless steel (50), 75 to ;
) [CR setting Carbon foo! stea] ) (200) strokes |HEX. sCrew Chrome steel Nickel plated
2 |Round R set ring Carbon tool steel Nickel plated @850 | Hex. nut Carbon steel Nickel plated
13 | Shock absorber — RB1006-X552, RB1411-X552 (50), 75 to — .
19) | Hex. socket head cap screw Chrome steel Nickel plated @1) (200) strokes | Adjusting bolt Chrome steel Nickel plated
15 | Hex. socket head cap plug Chrome steel Nickel plated (25), 50 Shock absorber _ RB1006 or RB1411
6 |Hex. socket head cap screw Chrome steel Nickel plated strokes
17) | Piston seal NBR 2 | Body gasket NBR
9 |Rod seal NBR 3 R_od seal NBR
19 |Cylinder tube gasket NBR 4 Pls?on seal NBR
20 |Piston gasket NBR QOrring NBR
Note 1) The strokes indicated in the parentheses are of CXWM20, and CXWM32
Replacement Parts: Seal kits includes the strokes indicated in the parentheses.
Model Part No. Contents Replacement Parts: Seal kits
CXWM20 CXWMZ20-PS A piston seal 17, a rod §ea| (E] gnd acylinder Model Kit No. Contents
CXWM32 CXWM32-PS tube gasket @9 are ncluded in one set CXWM20 CXWM20R-PS A body gasket (2, a rod seal (3) a piston seal
* The seal kit includes a piston seal (2, a rod seal (8 and a cylinder tube gasket (9. CXWM32 CXWM32R-PS (4 and an O ring A5 are included in one set.
List the order numbers in compliance with the respective models. * The seal kit includes a body gasket (2, a rod seal @3, a piston seal @9 and an O ring (5.

(The piston gasket is not replaceable.) List the order numbers in compliance with the respective models

2-70 % S\VC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

©10 Basic Style: CXWM10-[ Stroke/50 to 100 |

Max.8 10 z 10 95
2 X 2-04 17 "87"* Depth 5 F 4-03.2 Through

= P
- 4-06.5
Depth of counter bore 3.3
5
o
il ) $
] J% : |

'

I
S

52

s

&
X e@ s Y |
Y ﬁ T T
2 X 2-M4 / \ 2-RB0805-X552

Thread depth 8 Shock absorber

18

S
[
g
Y
l
il

al i f - L e '\ -
¥ ¥

145 L \ 2-M5 Plug (M-5P)

(Port on the housing side)

6.5

2 X 2-03.3 Through

2 X 2-06.5
Depth of counter bore 3.2

. Max.ZZ »d
[ 4 Q -
[ ss s .
- ——
E . p£0.05 by
(047 Holepitch) | S
3o
2-M8 X 1.0 N
Adjusting bolt I
I o |
" P TS ® - |

i & 6.'

o
o
@- # 3 | )
LT ! ==
3 6 o4H7 8% DeginG / \4-M4 Thread depth 6 Socket
o_M5 4 positions of set serews for

fixing shock absorber (M4) 2-M4 Socket connecting port

At

=q

Cylinder port (2 position of hexagon socket head cap screws)
(mm)
Model F L P Q S SS Z Y74
Q CXWM10-50 26 63 40 154 52 92 144 181.5
Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM10-75 26 88 65 204 ” 117 194 | 2315
Refer to p.2-72 for the dimensions of the 25 stroke. CXWM10-100 26 113 90 254 102 142 244 | 281.5
ZS\NC 2-71

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CXWM

AIMOTION

010 Basic Style: CXWM10-25 Stroke]

4-03.2Through

4-0 6.5 Depth of counter bore 3.3

2X 2- 0441782 Depth 5 10 94 10 95
21 25
©
_‘: - 2-M8 X 1.0
j ‘@ N 7 S é- RB08O5
\ 3! A A Shock absorber
6 l ” {_
g !
o o & €= | ke
r I
49 A
g e—o—fF (3]
2X2-M4 Max.
Thread depth 8 31
0 4H7 30"
©
) ) X
y 1] A
& b
2 ® "<.< ——
YooY E=s o L
(Te]
©
145 38 _| \2-M5 plug (M-5P)
(Port on the housing side)
Max.176
o 104
2 X 2-03.3 Through i 67 5 27
2 X 2-06.5 =
Depth of counter bore 3.2 - 21 . 25i0'05._
(04u7
Hole pitch)
2
g
i o 11 [®
I~
[y _$_ | e 3 =1t
ry Y
S o ¢ H —- l‘ srete-H=1
Y A % Y &
N/ | | Y \‘1:’/‘
+0.012 4-M4
3 6 0417 8°"2Depth 6/ \ Thread depth 6 Socket
2-M5
Cylinder port 2-M4 Socket connecting port
(2 positions of hexagon socket head cap screws)
2-72 % S\VC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

010 with End Lock: CXWM10-[Stroke/50 to 100 |R

2-M5
Hexagon sockethead capplug 105 5

(Cylinder port) \
<

RS ;(5
Qe
[=2]
10 9.5 2 X 2-83.3Through
End lock mechanism 22 10 04+7"9%" Depth 6 2 X 2-06.5
| ] Depth of counter bore 3.2
P — | S $ &
o 58 b o (mm)
o =
AR E % 5—ak- &) Model zz
w
o ° \ o | ¢_="' CXWM10-50R | 204.5
i

& & &——\ e CXWM10-75R | 2545

b ]
CXWM10-100R | 304.5

4-M4 \4 positions for shock absorbers
Thread depth 6 Female thread for fixation
2-M5 Plug (M-5P)
Max.9 14.5 / (Cylinde;o port) Max.8
| 0|~ 1 é w ’£ o ey
-] rl
_¢_ +m;l i -]
Al o4an7'5"" &
2 X 2-M4 Thread depth 8 Max.ZZ

2 X 2-04 7% Depths

2-RB0805 -X552
2-M8 X 1.0 )
Adjusting bolt \ Shock absorber

. ©
/ =) &
& % @ @ = QH—
o | 5":&" t=|eo | g o =]
o = ] = R ) - P | % 8l¥ b
© ozt ©
4 3 ¢ _9® @ o Ny ‘ ‘
B 5 o! 40 \4—93.2 Through Socket T
2-M5 4-06.5
{Cylinder port) Depth of counter bore 3.3 419
.2-M5 Hexagon socket head cap plug
. ] . . (Cylinder port)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM10-[Stroke|, CDBXWM10-[Stroke|R CDPXWM10-[Stroke|, CDPXWM10-[Stroke|R
Auto switch 22 Magnet mounting block Ht Auto switch Hw
| _,"— - —_— I'. ..._._—:
| , |
| © “
___JI_I. ‘i 1 ~ [ - j_{ 1|
% ® @ ! $ ®
= — } 3 -
@ @ | &
e €
Note 1) The dimensions show D-A7 and D-A8.
Note 1) The dimensions show D-E70A and D-E80A. Auto switch Hw Ht Hv
Note 2) For 25 stroke, the shock absorber is mounted on a single D-A7, D-A8 23 15 105
side of the plate. Refer to p.2-74 for the dimensions of the D-F70, D-J79, D-J79W, D-F7PW, . ; ’
25 stroke. D-F79F, D-F7BA, D-F7NT S R
D-A7C1H, D-A80H 22 15 9
D-A73C, D-A80C 23 175 | 17.5
D-F700V, D-F700WV 23 15 14
D-J79C 24 17.5 16

Note 2) For 25 stroke type, the shock absorber is mounted on
a single side of the plate.
Refer to p.2-74 for the dimensions of the 25 stroke.

ZS\VC 2.73
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWM

010 with End Lock: CXWM10-[25 Stroke IR

2-M5 Hexagon

socket head cap screw 105 5
Cylind t
(Cylinder port) & \
ek ’fffff%
9|«
)
1095 2 X 2-03.3 Through
End lock mechanism 22 10 04H7"0 °"* Depth6 2 X 2-06.5 Depth of counter bore 3.2

56.5
52
40
| ¢
473
-
|
|
! 1
37
!
0
®
tjUH

° 2 = ©
o <« e &
2 positions of shock absorbers \4-M4 Thread depth 6
Female thread for fixation
MAx g 145 2-M5 Plug (M-5P) 2-RB0O805 Shock absorber
: / (Cyllnger port) (Housing installed on single side)
olal~ UT © 3/ = =1
¢ Qomn &
+U, 4 I'Q
o o4HT7  Hikd wT Max.31
2 X 2-M4 Thread depth8
2 X 2-04H7'8"?Deptns Max.176
M8 X 1.0
Adjusting bolt
R © ® 812
: | 2 == ©
2 __s g =}
%I | 512 e -0
e a2 B e e b=
= Socket

)
Al \4 03.2 Through
o 3 0.5 40 -03. rougl
28 4-06.5Depth of counter bore 3.3 2-M5 Hexagon

\ 1819
-

(Cylinder port) socket head cap screw 419
(Cylinder port)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM10-25, CDBXWM10-25R CDPXWM10-2, COPXWM10-25R
Auto switch 22 Magnet mounting block Ht Auto switch Hw
| | o / : |
[ an I [ - -

Note 1) The dimensions show D-E7CJA and D-E80A. Note 1) The dimensions show D-A7 and D-A8. (mm)
Note 2) 2 pieces of magnets for auto switches are equipped to the Auto switch Hw Ht Hv
magnet mounting block D-A7, D-A8 23 15 105

D-F70, D-J79, D-J79W, D-F7PW,

D-F79F, D-F7BA, D-F7NT s

D-A7CH, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 17.5
D-F700V, D-F7O0WV 23 15 14
D-J79C 24 | 175 | 16
Note 2) 2 magnets for auto switches are installed in the
housing.

r
2-74 2 SNVC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

©16 Basic Style: CXWM16-[ Stroke/50 to 200 |

Max6_, 12 | z 12 2 X 2-Ms
leF P, 4-04.3 Through Thread depth10
| | 4-08
i | Depth of counter bore 4.5
|
_@9_ 71
| & ] J
| | = ——-_Y_ .
| o
. : 5 |
G i B B % g 5
: (s8]
| “I 1
\\
[T &7

I
2-R80805-X552X Az-es H7 *§°"® Depth6

o /TN P

i —

2 X 2-M5
(Hevé,on scslel FEad oo T © 517 *§%' pepthg / \ 4 positions for set screws for fixing shock absorbers (M)

y

‘Shock absorber
18,5— L i
05H75 9" 2-M5
& &l /Cyllnder port
s e B 1
o A\ 'a
Q3 Y — -
‘ |
2 X 2-04.3 Through
2 X 2-08Depth of counter bore 4.5
Max.ZZ 5
[ = - Q I
| e SS S -
F p£005
@ [ (@ 5H7Hole piiich) o M
3 - © o 2| @ 1 15, 16
i) 2-M8 X 1.0 5 _.l" I|
? Adjusting bolt -@' ? ﬂ "@‘
. 5 1
@ @ }.} 2'9 H % % d g
o &
&

Vg

4-M5 Thread depth10

(mm)
Model F L P Q S SS z 7z
CXWM16-50 35 63 30 | 164 | 52 | 100 | 152 | 188

CXWM16-75 32.5 88 60 214 77 125 202 238

CXWM16-100 37.5 113 75 264 102 150 252 288

Q CXWM16-125 42.5 138 90 314 127 175 302 338
CXWM16-150 55 163 90 364 152 200 352 388

Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM16-175 67.5 188 90 414 177 295 402 438
Refer to p.2-76 for the dimensions of the 25 stroke. CXWM16-200 80 213 90 464 202 250 452 488

ZS\NC 2.75
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWM

Q1 6 Basic Style: CXWM16-| 25 Stroke |

4-04.3 Through
4- 08 Depth of counter bore 4.5

12 102 12 - oxo-M5
Thread depthiQ
25 - 25
2-M8 X 1.0
o ¢ < &
RB0805 N 7N 1 4
Shock absorber T™VT i b
5
! B = B PR
| ™
é ¥
5 £ 1N Y i
4 LN S
2 X 2-05H7 *3%"? DepthB
2-M5
1_‘8.5 Lo 38 Cylinder port
o 5H7 5"
3 ol A Max.29
¥ ¥ ,
l o 2 A
o <l o4 Y&
8 8 —f | ¥ — B
Yy v
2 X 2-04.3 Through
2 X 2-08Depth of counter bore4.5
B Max.184
s 14 %
. 75 o B
25 _ 25%00%
(@5H7Hole pitch)
o
72N o) Py S R
N L e h ﬂ L
| © II@_
@ A £l
& !
2 @ = ot |gya- -9
+o
i | b
@’* C / © @
7\ / e ey 4 (A
%, e g Y 3/
2 X 2-M5 55 7.5 05kH7"3%"* Depth / \4-M5 Thread depth10

(Hexagon socket head cap plug)

2-76 & SNC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

016 with End Lock: CXWM16- Stroke/50 to 200 IR

2-M5 Hexagon socket head cap plug

Cylinder port \__l 96
7L ¢
o" @
0,012 12 2 X 2-04.3 Through
End lock mechanism 23 12 05H7 o " Depth6 2 X 2-08Depth of counter bore 4.5
' fom |
i . &
| - X F— =]
| ® b/ @:ﬁ
Neg e em——de o3
| o L \ e
5 5

l I T — ©

4 positions for set screws for

\iixing shock absorbers (M4)
4-M5 Thread depth 10
(mm)
Max.6
Max.6 185 2-M5 Plug (M-5P) i Model zz
| \ (Cylinder port) [ CXWM16-50R 211

_ CXWM16-75R | 261
- ﬁ‘:—*gx o 1 CXWM16-100R | 311

¢cﬁ T CXWM16-125R | 361
05179 CXWM16-150R | 411
2 X 2-M5 Thread depth 10 Max.ZZ CXWM16-175R | 461

o.M5 2 X 2-05H7'0""* Depth6

25
24
23
@
D

10

2-RB0805-X552 CXWM16-200R | 511
Cylinderport, ~ 2-M8X10 Shock absorber
Adjusting bolt \
o

' (TGRS S
%3' i, — ¥
{ = g il
@ = —F—g—- il 8 :
A7~ Y e == 8
Ny & & o
@ &
L T [Ty} ! il i ..-?_
! 4-04.3 Through |
73 o5 0. |“ 46 4-08 Depth of counter bore 4.5 11
2-M5 \
Hexagon socket head cap plug (Cylinder port)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM16-[Stroke], CDBXWM16-[Stroke|R CDPXWM16-[Stroke], CDPXWM16-[Stroke|R
Auto switch Hw Magnet mounting block Auto switch Hw
= y =) = e Ty i
5 , 5 0 3
- ? e - }
Note 1) The dimensions show D-E7CJA and D-E80A. (mm) Note 1) The dimensions show D-E7CJA and D-E80A. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 15 | 10.5
D-F70J, D-J79, D-J79W, D-F7PW, 23 | 125 | 15 D-F70J, D-J79, D-J79W, D-F7PW, 23 15 10
D-F79F, D-F7BA, D-F7NT ) D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7C0WV 23 | 125 | 15 D-F701V, D-F7TOWV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16
D-F7LF 30 12.5 15 Note 2) For 25 stroke, the shock absorber is mounted on a
Note 2) For 25 stroke, the shock absorber is mounted on a single single side of the plate. Refer to p.2-78 for the
side of the plate. Refer to p.2-78 for the dimensions of the 25 stroke. dimensions of the 25 stroke.
% SNC 277

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CXWM
016 with End Lock: CXWNM16-25 Stroke R

AIMOTION

2-M5 Tampé&o sextavado da lig.

2 X 2-04.3 Passante

2 X 2-08 Prof. do orificio 4.5

2-RB0805 Amortecedor hidraulico

(Ligago do cilindro) \ |9 8
o011 S
o @
23 —12— +0.012 -1—20-
Mecanismo blog. final o5H7'g ~ Prof. 6
I o &
"7 f E—
© SaTHis / i
N5E f—1— S -—g—-f=—==
o % e
o i« o €
\ \4-M5
! Prof. da rosca 10
2 posicdes dos parafusos de ajuste
p/ afixagao dos amortecedores (Vi4)
Méx. 6 18.5 2-M5 Lig. (M-5P) M8 X 1.0
/(Ligagéo do cilindro)
ITo]hc[se] ]
]St e © { T« I
;@é& #'l F);O‘ 4 of
WA
o 5H?+8.012 29
2 X 2-M5 Prof. da roscal10 Méx 184
2-M5 _ 2 X 2-0517°8""? Prof. 6
Lig. do cilindro M8 X 1.0
Parafuso de ajuste
™ O [——
o & ® B _[¢
RES ) — —¢
N7 5 5
© s : - — g =
o) g
INZ © — —¢
I | hd ﬁ
| | [Tp] T
4-04.3 Passante
L. 5.8 o5, 46 4-08 Prof. do orificio 4.5

Housing mounting style with auto switch
CDBXWM16-25, CDBXWM16-25R

(Carro instalado apenas num lado)

w
9 i%-
8
o
| 2-M5
(Tampao sextavado
4] 11}, da ligacéo)
(Lig. do cilindro)

Plate mounting style with auto switch
CDPXWM16-25, CDOPXWM16-25R

Detector Hw, Bloco de montagem
magnético | | % / do iman
e & © |-
rc] @ H e &
Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht
D-A7, D-A8 23 | 125 | 15
D-F701, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-FINT 23 11251 15
D-A700H, D-A80H 22 | 125 | 15
D-A73C, D-A80C 23 15 | 17.5
D-F70JV, D-F7O0WV 23 | 125 | 15
D-J79C 24 15 17.5
D-F7LF 30 | 125 | 15

Note 2) 2 magnets for auto switches are equipped
to the magnet mounting block.

2-78

Z

SMC

Detector

magnético "\

=

D-8A.

Note 1) The dimensions show D-7A and (mm)
Auto switch Hw Ht Hv
D-A7, D-A8 23 15 10.5
D-F70, D-J79, D-J79W, D-F7PW, 23 15 10
D-F79F, D-F7BA, D-F7NT
D-A7C0H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F70JV, D-F7O0WV 23 15 14
D-J79C 24 17.5 16

Note 2) 2 magnets for auto switches are installed in the housing.

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

020 Basic Style: CXWM20-[ Stroke/50 to 200 |

2 X 2-M6 Thread through 12 14 z 14
2 X 2-M6H7 *§912 Depth 8 F p 4-65.5 Through
4-09.5
Depth of counter bore 5.5
3
O 1 I [¢
8 1 - -
| o 4'34 o
X L
AN _
2-RB1006-X552 (Shock absurhk
20 L 2-M5
0BH7 +3.012 Cylinder port
(=]
|
il 3] \ -
w0 o) = o= ]
RS R =G
. 4 e
2-M4 Thread depth5 |G = 2
o
2 X 2-05.2 Through 27
2X2-095 R
Depth of counter bore5 Q
ot P e ——— ]
2 X 4-M5 Thread through 55 5
/ From the opposite side -_F T 005 —
7., .55 %Xﬂ:t-??ﬁt bore4.5 TP :
. epth of counter bore4. (@67 Hole pitch)
2-M10X 1.0
z Adjusting bolt
2 positions for set screws for fixing g 5 - ]
shock absorbers (M5) i Ea @ _%:. © @3’ I
£ 8
O iy
g 0 000 —-¢ Q=3 R [ s
\ \
X
= oG = =
/ 4 positions
2 X2-M5 " 4-M86 Thread depth9 06H7*30"2 Depth 8 \ for set screws for fixing
(Hexagon socket head cap plug) shock absorbers
185 |,
(mm)
Model F L P Q S SS V4 Y74
CXWM20-50 | 34.5 64 35 170 52 104 156 184
CXWM20-75 | 34.5 89 60 220 77 129 | 206 | 234
CXWM20-100 | 39.5 | 114 75 270 102 154 | 256 | 284
CXWM20-125 | 44.5 | 139 90 320 127 179 | 306 | 334
CXWM20-150 | 57 164 90 370 152 | 204 | 356 | 384
CXWM20-175 | 69.5 | 189 90 420 177 | 229 | 406 | 434
CXWM20-200 | 82 214 90 470 | 202 | 254 | 456 | 484
Note) For 25 stroke, the shock absorber is mounted on a single side of the
plate. Refer to p.2-80 for the dimensions of the 25 stroke.
ZSNC 2-79

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWM

020 Basic Style: CXWM20-[25 Stroke |

2 X 2- M6 Thread depth12
14 106

14 Max33

2 X 2-06H7+3%"2Thread depth8 -

4-09.5

P . 4-05.5 Through

(8}
-

L=

78
62

62

Depth' of counter bore 5.5
S — E o i
P
=
ANE

n
[#6—%—0¢]

2-RB1006 (Shock absorber)

M10 X 1.0(Housing installed on single side)

20 39 2-M5

—— e gl

OBH7+3012 /Cylindér port
i

|
Al o sl =y
(=]
w3 " ¢.._ sl NG, u? & _é_ .’
7| & LA ==
|
2-M4 Thread depth 5 _IG,.. 0
&
2 X 2-p5.2 Through
Mﬁk-ls? o o
2 X 2-09.5Depth of counter bore5 AL o e A _l
2 X 4-M5 Thread through et e o [ - -
— -
From the opposite side / RS 79 S 27 __I
2 X 4-07.5 / 27 25+005

Depth of counter bore 4.5

<

2

(ofH7 3
Hole pitch) o
=1

o0
+

]

I

©

17
-X@ E — 1 [®—
Dy 8 = b S -
mi ¢l
32} | g |6 & O—| ¢ = gof—h¢
$ ¢AV —— _1 R é S
/ 2 positions
2X2-M5 11 4-M6 Thread depthd ©6H7 8" Deph 8 ™\ for set screws for fixing
(Hexagon socket shook absorbers
head cap plug)
L1 R
2-80 ZS\VC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl

Set screws for fixing
adjusting bolts (M5)

M10 X 1.0
Adjusting bolt



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

020 with End Lock: CXWM20-Stroke/50 to 200/R

8.5 B
d 11
[
* | )
bl l2 M5 Hexagon socket head cap plug
(Cylinder port)
2 ¥ 2-p95.2 Through
2 X 2-09.5
Depth of counter bore 5
End lock mechanism 29 14 7z 14
. F . P*005 4-M6 Thread depth9
| @607
4 : 1 Hole pitch) J
H—-—&——— =
B o
—f -
glela P00 oo ey 7 o 2
/ / { =
i \
L Y2 74 \
positions £ 06,002 o
for set screws for fixing / 2 De H:h% 2-RBI006- X552
shock absorbers sE, p Shock absorber Model F L P Q S Ss z
£ +E CXWM20-50R | 34.5 64 35 170 52 104 | 156
e CXWM20-75R | 34.5 89 60 220 77 129 | 206
© CXWM20-100R| 39.5 | 114 75 270 | 102 | 154 | 256
20 L - - CXWM20-125R] 445 | 139 | 90 | 320 | 127 | 179 | 306
5 CXWM20-150R| 57 164 90 370 | 152 | 204 | 356
S m— f CXWM20-175R| 69.5 | 189 90 420 | 177 | 229 | 406
@ |2 '-"L, CXWM20-200R| 82 214 90 470 | 202 | 254 | 456
o g o~ 0 2 y —t——— =t
Iy e ® +
- =l o
+o02 @
2-M5 06,73
Hexagon socket head cap plug e
S Tiwealiii ) Frd 2 X 2-M6 Thread depth 8
read througl [T N Q +0.012
/ﬁom opposite side 35 s 2 X 2-06k7X 0 Depth 8
55 17 / 4-07.5 F P 011Depth 21
= Depth of counter bore 4.5 I o (An adjusting bolt M10 X 1.0 X 14%
| i to the plate port)
2 positions for set screws - -0 —— = I
for fixing adjusting bolts (M5) il
..... ) f; : : &
- o
T LB T el 4 |
s » ik el 8 | @
ik — — £
A - /
2-M5 ! L. a6 4-5.5 Through 2-M10 X 1.0 é H—
L 46 \4-095 \ Adjusting bolt & 1l
Cylinder port o o -
1114 (Cylinder port Depth of counter bore 5.5 6 14
15.5
I 2 MS Hexagon socket head cap plug
. . . . (Cylmder port)
(H:BUBS)'(':I%I\'II";UM'"Q Stylgl‘:’)WBt;‘(\Tvl:\:lz switch R Plate mounting style with auto switch
0-[Strokel, 0-[Stroke] CDPXWM20-[Stroke], CDPXWM20-[Stroke]R
Auto switch HW Magnet mounting block Ht Auto switch HW
—] =
|" o~ I
o = o PR |
bon = ol — b
s 3 * 3
: == Q =
== A _ _":_
* | -P- +4F -‘@E i | bl I I = E:
g ] & % ==
- 4 a 4
= s —J eErE=iy —_
Note 1) The dimensions show D-7A and D-8A. (mm) Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 125 15 D-A7, D-A8 23 15 105
D-F700, D-J79, D-J79W, D-F7PW, | o5 | 105 | 15 D-F70, D-J79, D-J79W, D-F7PW, | o5 | 15 | 10
D-F79F, D-F7BA, D-F7NT i D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 125 15 D-A7C0H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 175
D-F701V, D-F7O0WV 23 125 15 D-F701V, D-F70WV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16
Note 2) For 25 stroke, the shock absorber is mounte’~5 SVC Note 2) For 25 stroke, the shock absorber is mounted 2.81

on a single side of the plate. Refer to p.2-82
AlistidimBnaiaNg eftibie2egtroke| 6662 NG Elst (Gld) | The Netherlands t +31 (085 dingervsions ifdl@aRbosisoke.

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl

on a single side of the plate. Refer to p.2-82 for



AIMOTION

Series CXWM

020 with End Lock: CXWM20-[25 Stroke IR

2 X 2-05.2 Passante

8.5 6
0
P~
(-
o 2-M5 Tampa sextavada da ligacdo
(Lig. do cilindro)
2 X 2-005
. ) Prof. do orificio 5
Mecanismo blog. final \ax12 21 14 106 14

27
@86 H7 Passo do
o) |,

N

25+£006 4 X M6
/ Prof. da rosca 9

0——0——

i

62

=
]

<
B
a
il 2-RB1006- X552
5 Amortecedor hidraulico
Sao | prixar o amortecedor o
+E 0 BH7 8 “ Prof. 8
©
20 a9 3
%
I
| 2lelet ot o .
[ = _
A Pt —te ]
Tl
2-M5 0BH7+3012
Tampa sextavada da ligagéao o
- Méx. 167
4-M5 Orif. passante L =
55 17 ./ No lado oposto = ;: M10 X 1.0
/4-07.5 Prof. do orificio 4.5 o X 2-06 H?’g "2 protf. 8 RB1006‘ .
Amort. hidraulico
Parafuso de ajuste p/ ] -
@ fixar um parafuso (M5) g _@ @
[P ok BT [ 5 !
& 5@3-— ﬁtg —:{E— ol 1 . = 1 ++3 :-fsgs?_ i
| I P 6l g
b e
v =
© @ o
| wy T | )
: 2-M5 | 46 | \4-055 Passante \M10X10 )
1| Tig. do cilindro 4-095 Paraf. de ajuste al /6 |1 14
155 Prof. do orificio 5.5 2 X% 2-MB X 1.0 Prof. da rosca 12 o ,a-f
o
2-M5 Tampa sextavada da ligagao
(Lig. do cilindro)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM20 25, CDBXWM20-25R CDPXWM20-25, CDPXWM20-25R HW
Detector Bloco de montagem H Detector —)
magnético W - oiman T > magnético
I -
o y P R | {
wnsw — Ts} =
i ¢ 4 % ? f i
== ah ==
P e _@ u't e
Ji g = -é 4 % $ é 3
ety e —T o itz | b
Note 1) The dimensions show D-7A and D-8A. (mm) Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 15 | 105
D-F70], D-J79, D-J79W, D-F7PW, D-F70], D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7NT B | ek | D-F79F, D-F7BA, D-FTNT | | e
D-A70CH, D-A80H 22 12.5 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 175
D-F70V, D-F70WV 23 12.5 15 D-F701V, D-F70WV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16

Note 2) 2 magnets for auto switches are equipped to the

magnet mounting block.
2-82 ZS\VC

Note 2) 2 magnets for auto switches are equipped to the
housing mounting block.

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl

]



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

025 Basic Style: CXWM25-[ Stroke/50 to 200 |

2 X 2-M6
Thread depth 12 16 i B z B 18  Max.6
2 X 2-06H7 "§”'“Depthg \ | F P 4-05.5 Through

" i 4-09.5
Depth of counter bore 5.5

2-M10 X 1.0
Adjusting bolt

B84
67
50001

£ AR U e
v \ '
2.

RB1006-X552
Shock absorber

2-Rc(PT))4%

!

A ) LB A
oy
3 8 & ; : JS : S :B‘
‘ . -F—
2 X 2-05.2 Through Max.ZZ
-
2 X 2-09.5 Q N
Depth of counter bore 5 = -
' ss e s ;
| 4+
| L_F proos |
(@ 617 Hole pitch)
2 LA
: - - ;[ 3] -@fy l
é § @,
—1 4
T fl . M~
8 ©) 5 U 9 C‘?@? &- B 2 %
= L
[= =2 K7
| 1y ‘ Al
| L, L -
/1] A e W - . T
B +oo12 4 positions for set screws
2 X 2-Rc(PT) % LTG* 4-M6 Thread depth12 / 06 n7 67" Depth 8 ot Thioa aock Bbacebars (MG}
Plug (R(PT)}&) 18
(mm)
Model F L P Q S SS Z zZ
CXWM25-50 31 66 45 175 52 107 159 203
CXWM25-75 33.5 91 65 225 77 132 209 253
CXWM25-100 33.5 116 90 275 102 157 259 303

Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM25-125 46 141 90 325 127 182 309 353
Refer to p.2-84 for the dimensions of the 25 stroke. CXWM25-150 | 58.5 | 166 90 375 | 152 | 207 | 359 | 403
CXWM25-175 71 191 90 425 177 232 409 453

CXWM25-200 83.5 | 216 90 475 202 257 459 503

Z SNC 2-83
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWM

025 Basic Style: CXWM25-25 Stroke|

2 X 2-M6 Thread depth12 16 109 16

+0.012
2 X 2-06u77g ~Depthg 285 25 _ 4-05.5 Through

[~ 7| [4-095
Depth of counter bore size 5.5

]
é _@ 2-M10 X 1.0
] \r/ RB1006
-+ Shock absorber
" l
<| ~| F 8
S & o = 2
0 et
‘ A
4 - (A
| é‘ ©—- gi
Max.31
e |

185 43
0617 8% 2Rc(PT)%
Cylinder port
o / ylinder p
!
A 3 {/
3| s ®) G
L Y Y
o
)
Max.203
125 o
2 X 2-85.2 Through
2 X 2095 N < Be S .
Depth of counter bore size 5 28.5 25+0.05
3 (06H7 Hole pitch)
{ Y78 @ e, 3 N
3 w4 © r
L3 | y 1 h
3 : s et e = 1
A = y
‘\.y gc
@A \ 1 A '
O 9\ 95 1 (@
2 X 2-Rc(PT) % 10 4-M6 Thread depth12 / \ 0617 *3°"“Depth 8
Plug (R(PT)A) el
18
2-84 ZSNC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

025 with End Lock: CXWM25-[Stroke/50 to 200 R

2-Rc(PT) s

Plug (R(PT) a)\ F’E

(Cylinder port)
e M
e | |t

)
0 16 2 X 2-05.2Through

«0012
i 23 1 0617'0" “Through 8 52X 2-095
End lock mechanism, .23.18) 5 RBI00G-XE52 [ Dt of oonibr bores

__.__l ——m Shock absorber /
; @ L . _qli/f
% & 8

g 3 2 Ty e -
o2 ==
O I & $ ©
\4-M6 \4 positions for set screws for
Thread depth 12 fixing adjusting bolts (M5)

2-Rc(PT) %

Max.6 205 Plug (R(PT)l%) Max.6
(Cylinder port)

fN E o
§;lm 5 & g@ffa%h é‘q.__m,___

FA
2 X 2-M6 X 1.0 Thread depth 12 Max.ZZ Model Y4
2 X 2-0617*5"“Depth8 3 CXWM25-50R 226
CXWM25-75R 276
2-M10
Adjusting bolt \ CXWM25-100R | 326
5 @ = @ I [ CXWM25-125R | 376
% | CXWM25-150R | 426
N e g © CXWM25-175R | 476
2 — o~ ~ g8 I CXWM25-200R | 526

25_,

8

- : & -
9] o
— = 4-95.5 Through
4-09

2-Re(PT) A28 51 5 2-R(PT)%
(Cylinder port) Depth of counter bore 5.5 \ Plug (R(PT)%)

. . . . . ... (Cylinder port)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWM25-[Stroke|, CDBXWM25-[Stroke|R CDPXWM25-[Stroke|, CDPXWM25-[Stroke|R

Auto switch Hw Magnet mounting block 5 Auto switch Hw,

gRsm—— e T
1 |
- l 1 [ ﬂ_’_\
i i s
I . h
tH
i S
] T
Note 1) The dimensions show D-7A and D-8A. (mm) Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 12.5 15 D-A7, D-A8 23 15 10.5
D-F70], D-J79, D-J79W, D-F7PW, D-F701, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7NT 23 | 125 ] 15 D-F79F, D-F7BA, D-F7NT 23 | 15 ] 10
D-A7C]H, D-A80H 22 12.5 15 D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 175
D-F701V, D-F700WV 23 12.5 15 D-F701V, D-F700WV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16
Note 2) For 25 stroke, the shock absorber is mounted on a single Note 2) For 25 stroke, the shock absorber is mounted on a single
side of the plate. Refer to p.2-86 for the dimensions of the side of the plate. Refer to p.2-86 for the dimensions of the

25 stroke. 25 stroke.

4 S\VC 2-85

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWM

025 with End Lock: CXWM25-[25 Stroke IR

2-Rc(PT) %

Plug (R(PT) &) ™\ 135

(Cylinder port) 7
o T +J
e | |t

0
[+o]
23 16 109 186 2 X 2-85.2Through
End lock mechanism 0617 3°°Depth8 2 X 2-09.5Depth of counter bore 5

0| I

|
el

210
|

+0.01;

BH7 o

6 | &@JH
<19

|

|
[©e | &

i)
=

T

] ©
2 positions for set screws | \4-M6 Thread depth12

for fixing adjusting bolts (M5)

- 2-Rc(PT) s
6 195 Plug (R(PT) %)
(Cylinder port)

(Single housing installed)
i L . L—ZE
395 Yo Bo é—{w o —

2-RB1006 Shock absorber

=t |00
0617 907 Max.31
—————— ——————
2 X 2-M6 X 1.0Thread depth12 Max.201
2 X 2-06w7 3™ Depth8 ¥
Housing m uto switch Housing mounting style with auto switch
CDBXWhi25; %ERﬂ ¢DP M25-25, CDPXV\ 5R
(=]
7 @
© 4 o &
| 8 _ _ ~; - ) E'! 3
% i3 ©[~] =) P
5 &
w * w
3 e 18] :
2-Rc(PT) % " i '
(Cylinder porf) =198 51 4-05.5Through |2-Re(PT)}s
4-09.5 7.5 13\ Plug (R(PT) )
Depth of counter bore 5.5 “(C' 'v'linder DOH)
Note 1) The dimensions show D-7A and D-8A. (mm) Note 1) The dimensions show D-7A and D-8A. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 | 15 [ 105
D-F70], D-J79, D-J79W, D-F7PW,| oo | 405 | 45 2tmountingblock — D-F70J, D-J79, D-J79W, D-F7PW, | o5 | 15 | 10
D-F79F, D-F7BA, D-F7NTL " ~— - D-F79F, D-F7BA, D-F7TNT
——D-A70H, D-A80H 22, 12.5] 15 T D-Ai5H, D-A80H | #2154
D-A73C, D-A80C 23 | 15 | 175 D-A73C, D-A80C 23 [17.5 | 175
&DIF7CN, D-F7OWY] T 23 +t25]¢hs5 O-RzZaV, DE7OWV][ 7 | 23 |96 1 34|
D-J79C 24 | 15 | 175 _ D-J79CCI 24 [175] 16

[ o
tg 2) 2 magne! for|auto switches are equi } mignet Notg 2)@ magnets for|autq switches are installed in The Rousing.
g e - n 1 ]
mounting -bIocI"@ y ; & | E;L @ @& %
.L_t':EG—"_ == hd T s ’

2-86 ZS\VC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

Q32 Basic Style: CXWM32-Stroke/70 to 200 |

2 X 2-M8
Thread depth 15 20, Z 20
2 X 2-08 H7+8'015 1 38 | P | j:gﬁg Through
Dept12 \ | | | Depth of counter bore 7
1 P = — 75 &
T 7 ? &
! | [ B
5| | |
= | ;
287 o—- — 8 P
=3 | A
T T
L 1o ’ &
o el &
2-RB1411-X552 Shock absorber |
.28 L . 2-Rc(PT)%
’—- 08 H?+g.015 ! [Cyiinder port
| ] m‘
. . / =]
N ;
I ; ] N g & o). }
o2 v O yé' 5 E%——-'—_‘_T
wrigg v ?‘
/1] o
2-M6 Thread depth7 ,-’} 'i l 10
2 X 2-06.9 Through ZZ 2-M14 X 1.5
2 X 2-o11 V[, Q , / Adjusting bolt
Depth of counter bore 6.5 [ sSs S ‘
245 7.5 2 X 4-M6 | 38 p005
2 positions for set screws for | Thread through | (08H7Hole pitch) |
fixing adjusting bolts (M6) \ | / From the opposite side ‘ |
i 2 X 4-09.5 ]
! Depth of counter bore 5.4 A4 g - ‘I '@ :
| of ;
! 10_ &)
* gl o
2 == I 8 e eSeo-¢= 30 8
PN \ g =1 |
o N\ B \Er—te| |
o)
/ ol P —-o— ol
0,015 4 positions
2 X 2-Rc(PT) % 15| 4-M8 Thread depth15 \e@ H7 g for set screws for shock
Plug (R(PT)’s)/ 205 Depth12 absorbers (M5)
(mm)
Model L P Q S SS z zZ

CXWM32-75 90 70 243 77 146 | 223 | 263
CXWM32-100 | 115 95 293 | 102 171 273 | 313
CXWM32-125 | 140 120 | 343 | 127 196 | 323 | 363
CXWM32-150 | 165 145 | 393 | 152 | 221 373 | 413
CXWM32-175 | 190 170 | 443 | 177 | 246 | 423 | 463
CXWM32-200 | 215 195 | 493 | 202 | 271 473 | 513

Note) For 25 and 50 strokes, the shock absorber is mounted on a single side of the plate.
Refer to p 2-88 for the dimensions of the 25 and 50 strokes.

ZS\NC 2-87
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series

AIMOTION

CXWM

032 Basic Style: CXWM32-[Stroke/25, 50

2 X 2-M8 Thread depth15 20, Z 20
2 x 2-08+7"'0°"° Depth12 . F oo P _ 4-069Through
| | 4-011
\ ! ‘ Depth of counter bore 7
. . —
gl &9 — 3 ¥
1 T T
| i i
5 i '
o|wi ! | 07 < _ Q &
CCE N . 8 = =3
[ | .
’J:gi @I avi - } g
G L 2-Rc(PT)%
08H?+8-D'5 Cylinder port
o)
=]
ic\.r
| -k s} [ ]
g gg _@__} o ] o= | |
; "
N
2-M6 Thread depth?/ 10
2 X 2-26.9 Through o Y Max.48  Shock absorber
4-M6 Thread through 2 X 2-o11 \ [ Q : 2-BB1411
m the opposite side Depth of counter bore 6.5 SS S Mid4 X 15
1 4-09.5 2 positions for set screws for F p+0.0s {()F;osl.ilﬁir‘:g 2}3‘5"“
sth of counter bore 5.4 fixing shock absorbers (M5) \ (08r7Hole pitch) g
24.5
|
_ - L Yoy M14 X 1.5
. A i @ ) ‘Adjusting bolt
|
DRl 0 RN - . 8 (] _ . W0
Q oo < o2 =¢ S}
Lped | ?_, o§
S ® L e i\ 2o | e
I l i
& 5\ & © .
| 4-M8 / \08 H7'0"'° Depth12 / position for set screws
Thread depth 15 for adjusting bolt (M6)
2 x 2-Rc(PT)!s 15
Plug (R(PT)!) 20.5
(mm)
Model F L P Q S SS G z zZ
CXWM32-25 37 41 22 143 27 96 27.5 123 163
CXWM32-50 38 65 45 193 52 121 28 173 213
2-88 ZS\VC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Slide Bearing: Built-in Shock Absorber Series CXWM

032 With End Lock: CXWM32-[Stroke/75 to 200)R

(mm)
Plug(R(PT)2) \ CXWM32-75R | 90 | 70 | 243 | 77 | 146 | 223 | 263
(Cylinderport) \ _ 145 CXWM32-100R| 115 | 95 | 293 | 102 | 171 | 273 | 313
i CXWM32-125R| 140 | 120 | 343 | 127 | 196 | 323 | 363
CXWM32-150R| 165 145 393 152 221 373 413
|+ ) CXWM32-175R| 190 170 443 177 246 423 463
R CXWMS32-200R| 215 195 493 202 271 473 513
2-RB1411-X552 Shock absorber
. - _/ .20 2X2-w69Through
_ T / |1 /2X2-011 Depth of counter bore 6.5
| \@BurHole pitch) | .r
\ /|
e ——
o 0.
I T
E _i r(_\_-l"" & ]
[ el 2 AN
| =&
P —4:;@_'3:@—— é
I | \
4-M8 Thread depthis/ |4 positions for set screws for
08H7'§ "*Depth 12) \fixing shock absorbers (M5)
2-Rc(PT))g
28 L [PIUg(R(PT)16)
I g /(Cylinder port)
] | ¥
bl _4@ . r—i= 1_7
||t ; 4 —gl——
3'53'”'33: i by I . é i_*‘H—"'
o8ur 3%/ _g; 2
2 X 2-M8 Thread depth 15 285 ZZ S E
i @00150epth 12 N\ [ e Q - [ e Tt 015Depth 28 5
2X 208ur’s  Dep NN [ e Ss (Adjusting bolt it an adjusting bt
75, . .245 \ L38 P / M14 X 1.5 X 20L to the plate
2 postions fo set stremsfor | | | 4-M8 Thread through N ; ‘ T | (1] 14 X1, L to the plate
fsing adjusting borts (M6) ‘\; | /From the opposite side | [ | Il.u" -
\ /" 4-09.5Degh o courter bre 5.4 —= 3 y
o A i
O i N N N Sy =
Y | N J s I
5 o= 3 I B H8e 4 18 9 ]
I #{? =] ' | =T = '_‘ f
: . : i e e * L&l
ﬁ-/ E, r A - ﬁ: — |t oy — By Qﬁ
ETa T—F'——“i \ 4-06.9 Through Py
15, || \2X2-Re(PT)s L 65 4011 0epih of counter bore 7 150\
205 |\(Cylinder port) 2-Re(PT)%
Plug (R(PT)!4)

Housing mounting style with auto switch

CDBXWM32-[Stroke|, CDBXWM32-[Stroke|R

(Cylinder port)
Plate mounting style with auto switch

CDPXWM32-[Stroke], CDPXWM32-[Stroke|R

Auto switch " Magnet mounting block Auto switch i
L,/ B
=
| I
na—T - -
s 1) T ‘3‘ pen
) RE ==
P * — 1 : +-——
tQx : e = 4 : b ———p
o =— o |l 1=
L|__‘_l [= _g_p = ‘§ =
Note 1) The dimensions show D-7A and D-BA. Note 1) The dimensions show D-7A and D-BA.
(mm) (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 | 15 D-A7, D-A8 23 15 | 105
D-F70J, D-J7, D-J79W, D-F7PW, o3 | 125 | 15 D-F70, D-J79, D-J79W, D-F7PW, | 5 | 45 10
D-F79F, D-F7BA, D-F7NT . D-F79F, D-F7BA, D-F7NT
D-A7CH, D-A80H 22 12.5 15 D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 17.5
D-F701V, D-F7O0WV 23 12.5 15 D-F70JV, D-F7O0WV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16
Note 2) For 25 and 50 strokes, the shock absorber is Note 2) For 25 and 50 strokes, the shock absorber is
mounted on a single side of the plate. Refer to mounted on a single side of the plate. Refer to
p.2-90 for the dimensions of the 25 and 50 p.2-90 for the dimensions of the 25 and 50
strokes. strokes.
ZSNC 2-89

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION

Series CXWM

ﬂ32 With End Lock: CXWM32-| Stroke/25, 50 R

(mnr
Model F L P Q S SS G Z 2z
CXWM32-25R | 37 41 22 143 27 96 275 | 123 163
CXWM32-50R | 38 65 45 193 52 121 28 173 213
2-Re(PT)!s
Plug (R(PT)'&)
145
% 1+ {
e 1 ( RB1411-X552 Shock absorber
End lock mechanism 20 Z f 20 2 X 2-06.9 Through
F__P:00s .n" | | /2X 2-011 Depth of counter bore 6.5
(o 8H7Hole pitch)
¥ _ 5 | 7&
e <>~—-—¢+—4/—,
11 .
[ + o0 T FARHe
o | =l
§28 H-oLEE xS
il e T N\
| {5 | R e i
| | '—Er: A T
11 @ ;Lf—\— @]
4-M8 i / \ »
Thread depth 15 \ 2 positions for set screws
o 8uy 82" Depth12 \for fixing shock absorbers (M5)
2-Re(PT)!s
G L Plug (R(PT) &)
[ (Cylinder port)
:,.'
;z!élt |
A = ks
[
GBH?+8'°'5| H 91
1 positions for a set screw Max19.5, 285 zz
for fixing an adjusting bolt 2 X 2-M8Thread deptht5 | | Q - )T;J' ;-:"%0“
2 X 2-0817°0°"° Depth 12 | SS S - it
7.5 24.5 ! T ) | /
4-M8 Thread through s X 15 : ‘ ‘ /
4'.::; s PREoMS S Bldtvith auto Wi’,bilﬂ‘%w - W cgmti yle with a itch
DeptCDBXWM32-25, 50,CBBX 25R, 5 | | CDPX -25, 50, CDPXWM3R-25R, 50F
| — n 5
M 9 ¢ | Qo B g g
™) = '|' = 3® Iy}
| I
. ) | & ['s]
iy B 3 & ®
H | 4-06.9 Through
15 2-Rc(PT)% .65 | 4-o11 Depth of counter bore 7
20.5 Cylinder port
{Cyfinder port 2-Rc(PT) %
Plug (R(PT) %)
(Cylinder port)
Note 1) The dimensions show D-7A and D-8A Note 1) The dimensions show D-7A and D-8A
(mm)
Auto switch Auto switch Hw | Hs Ht Auto switch Hw Ht
\D-A7,D-ASe " e [ 23 [125] 15 __Ht D-A7, Dafo switch Hw 23 | 15
D-F70J, D-J79, D-J79W, D-F7PW, | 53 | 105 | 15 5 | D-F70), D-J79, D-J79W, D-F7PW, | .5 | 45
a1 D- F79F D-F7BA, D-F7NT : D-F79F, D-F7BA, D-F7NT
of @ 2 Won | 1 [2] 22 [ 125 | 15 odn -AT] TT28 | 15
@ " b-A73C, D-AS0C 23 | 15 | 175 @ =| T D-A73C, D-A80C 23 | 175
3 JD.F-/[}]v p-A7rowy 23 | 125 | 15 o g-F7iv,Jo-Friwv [ F—Tf=3] | 15
=¢4=E 24 | 15 | 175 E¢=: D-J79C 24 | 175
T{:’ Bwilches are equipped to the "'@’ Note 2) 2 fnagnéts for quto sl&tﬁﬁéﬁp installed
ﬁ. usin:

2-90

r
ZSVC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl




AIMOTION
Slide Unit/Built-in Shock Absorber

eries CXWL

Ball Bushing Bearing/o10, 016, 620, 925, 632

How to Order

Standard

it Ao Svich &

Cylinder with auto switch l

CXWL

16

— 150

[

DB

I

XWL

16

— 150

A73

Symbol| Specification/Mounting
DB With .auto switgh/
Housing mounting
DP With auto switch/

Plate mounting

Number of auto switches

2

(7]

1

n

¢ Auto switch

— |

None

« Refer to the table below for the
part numbers for auto switches.

» End lock

R

With end lock

None

Bearing ¢
L [ Ball bushing

Cylinder bore size/Stroke (mm) ¢
210 | 25,50, 75, 100
216 | 25,50, 75, 100, 125, 150, 175, 200
220 | 25,50, 75, 100, 125, 150, 175, 200
925 | 25,50, 75, 100, 125, 150, 175, 200
@32 | (25), 50, 75, 100, 125, 150, 175, 200

£

Note 1) For (25) stroke, the shock absorber is mounted on a single side of the plate.
Note 2) Refer to standard strokes list on p.2-92 for the strokes other than the strokes
indicated above.

Note 3) For 16, 20 and 925, strokes up to 275, and for @32, strokes up to 225 are

available as made to order. (-XB11)

Applicable Auto Switch
: 5 Load voltage Auto switch model Bore size Wire length (m)*
Style Special Electrical| %= | Wiring Ty | T o Applicable
neton entty || (outout DC AC ousing ate [ 05 |3 |5 |— load
2 (Output) Perpendicular| In-line | mounting|mounting| (—) | (L) | (2) | (N) od
3wires |— | 5V — — A76H ® ®|—|—| IC | —
(%2}
8 —| — [ 200v | a72 | a72n 210 —|—=
Grommet| > 00 216 | 16 LK J —
12V 100V A73 | A73H | @20 220 o0 0 —
= ol .
2 2| 2wires oav 5V, 12V| 100V orless| A80 A8OH 225 225 ® @& — | —| IC
g o Connectoré 12V — A73C — 032 232 0,00 — Reay
g 2 5V, 12V |24V orless| A80C | — [ K JIK JK ) c PLC
5 g| 3wies |—| 5V — | — | E76A o |0 —|—
> - J— _ | — —
GrommetT 2 wires |4y 12V 100V E73A 010 [ BN J
5V, 12V|100Vorless| —— E80A ® (@& — | —| IC
3 wires (NPN F7NV | F79 ® 0 O —
) (NPY) 5V, 12V IC
. Grommet 3 wires (PNP) F7PV F7P ® 0 0O —
IS F7BV J79 —
2 2 wires 12V ® 00O —
g Connector J79C¢ | — 16 ol0 | @ ©/ 0|0
7] . o
3 wires (NPN) F7ZNWV | F79W ® 0 O|— Rel
2 o indicati 2 24v|sv, 12v| — 020 | °16 ic |
N oo IR e — [row | 220 o [ [@l0[—| © |ric
o
] 225 —
g 2 wires 1oV F7BWV | J79W | a5 o ® 0 0 .
5 [Vater resistant (2 colour| Grommet — F7BA o — | @|O|—
S With timer 3 wires (NPN) 5V, 12V — | F7NT “lelo|= B
ith di = F79F —
With diagnoses output 4 wires (NPN) ® e O
(2 colour) — | F7LF** ® 0 O|—| —
* Symbols for wire length  0.5m .- — Ex)A80C  5m .o Z Ex)A80CZ = The solid state switches marked with “(0” are produced after orders
3m s L Ex)A80CL — -eeee N  Ex) ABOCN are received.
=% D-F7LF is not mountable to Series CDPXW.
Z5SVC 2-91

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWL

Specifications
Built-in shock absorber Style Non-lube
This is a built-in shock absorber style in which the Fluid Air
shock absorber is enclosed in the housing. Proof pressure 1.5MPa
Dramatically reduced installation labour ~ __Max- operating pressure 1.0MPa
The machining precision required for positioning Min. operating CXWL10, 16 0.15MPa
during the installation of the cylinder has been pressure CXWL20, 25, 32 0.10MPa

reduced through the adoption of a special pin hole
machining process, thus decreasing the amount of
labour involved.

Ambient and fluid temperature —10°C to 60°C (No freezing)
30 to 500mm/s
Cushion Shock absorber

Stroke adjustable range

Piston speed (No lubrication)

Standard stroke: £2mm
Straight knock pin (2 pcs.), Adjusting bolt* (-X138)
* -X138 has a stroke adjustable range of —12.5mm on one side.

Max. Movable Load/Non-rotating Accuracy/Max. Holding Force
CXWL10 | CXWL16 | CXWL20 | CXWL25 | CXWL32

Max. movable weight (1) 1kg 4kg 5kg 7kg 10kg

High-precision ball bushing

The bearings made of ball bushings decrease the
rise in starting pressure that could be caused by a
load imbalance. This also enables smooth
operation by ensuring stable travel resistance. Model

Accessory (Option)

Provided with an end lock mechanism
An end lock is also available, which maintains Non-rotating accuracy (2)
the cylinder's original position even if the air (Defllection.of a piStOﬂ) +0.09° +0.03° +0.03° +0.02° +0.01°
supply is interrupted. rod is not included.
Max. holding force
< End lock ) 39.2N 98.1N 147.1N 245.2N 392.3N

model

Note 1) Place the center of gravity of the load and center of the slide unit close during operation.
If they are placed far apart each other, consult SMC.
Note 2) The factors are obtained under the conditions of a 25 strokes plate is pushed out.

Shock Absorber Specifications

Shock absorber RB0805-X552 RB1006-X552 i —

Applicable slide unit CXWL10, 16-0100 | CXWL20, 25-(1C1 | CXWL32-00

Max. absorbed energy (J) 0.98 3.92 14.7

Absorbed stroke (mm) 5 6 11

Max. collision speed (m/sec) 0.05t0 5

Max. operating frequency (cycle/min) @ 80 70 45

Max. allowable thrust (N) 147 353 667

Ambient temperature (°C) —10 to 80

Spring force (N) Expanded 1.96 4.22 6.86
Compressed 3.83 6.18 15.30

Weight (g) 15 25 65

Note 1) "-X552" is an exclusive shock absorber installed in the housing, and is the screw not attached
specification of the outer part of the outer tube. “CXWL32-25” is mounted on a single side of the
plate and of the screw attached specification.

Note 2) Maximum absorbed energy per one cycle. The operating frequency can be increased in
compliance with the amount of absorbed energy.

Theoretical Force (N)
Rod size| Piston Operating pressure (MPa)

Model (mm) | m?) | 02 | 08 | 04 ] 05| 06 | 0.7 | 0.8 | 09
CXWL10-00 | 6 101 | 20 | 30 | 40 | 51 | 61 | 71 | 81 | 9
CXWL16-0001 | 10 245 | 49 | 74 | 98 | 123 | 147 | 172 | 196 | 221
CXWL20-00 | 12 402 | 80 | 121 | 161 | 201 | 241 | 281 | 322 | 362
CXWL25-00 | 14 597 | 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
CXWL32-00 | 20 980 | 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882

Note) Theoretical force (N)=Pressure (MPa) X Piston area (mm?)

Standard Strokes

— Standard stroke (mm)
25 50 75 100 125 150 175 200
CXWL10-OO | @ ° o ) — — — _
CXWL16-00 (] [ J [ J o o [ J () o
CXWL20-000 [ J [ J [ J o [ [ J () ()
CXWL25-000 [ J [ J (] [ ] [ ] (] (] (]
CXWL32-00 | (v ([ J L d [ ) [ [ ( ®
Note) The strokes marked with "(+)" has an absorber of single side plate mounting style.
2-92 ZSNC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series CXWL

Weight (kg)

Stroke (mm)
25 50 75 100 125 150 175 200
CXWL10 0.33 0.40 0.46 0.53 — — — —
CXWL16 0.72 0.85 0.98 1.11 1.23 1.36 1.49 1.62
CXWL20 1.0 1.18 1.35 1.53 1.71 1.89 2.06 2.24
CXWL25 1.32 1.54 1.76 1.97 2.19 243 2.63 2.86
CXWL32 2.56 2.96 3.37 3.75 4.19 4.56 4.98 5.39

Model

Additional Weight for End Lock Model (CXWLI-R) (kg)
Applicable model Additional weight
CXWwWL10 0.08
CXWL16 0.14
CXWL20 0.15
CXWL25 0.20
CXWL32 0.43

Accessory (Option)
Straight knock pin

] Operating direction per pressurized port

ow
Operating direction of housing when With end lock (CXWL-OR) %%
the plate is fixed Operating direction of housing o
when the plate is fixed E’k ©
8B B 4
; =] |
- o= =] ;
| L
E ] =] e u o)
Standard side of housing -
/(Mounting side) Standard side of housing Model L oD Model*
I_-‘—!_'—*LL’—‘_I . (Mounting side) CXWL10 10 4 MS4-10
Tl B A e T g\ﬁ_ﬂ‘:{—j’zﬂ CXWL16 | 10 | 5 MS5-10
FLEVEL LT A FALALTES NSNS ~ NN CXWL20 15 6 MS6-15
‘!ﬁﬂ m CXWL25 15 6 MS6-15
Operating direction of housing Operating direction of housing CXWL32 20 8 MS8-20
Pressurized port A|B|C|D|E|F Pressurizedport  |A[B|[C|D|E[F|G|H * Manufactured by Sansumi Trading Ltd.
Operating direction Right |Left| Left|Right|Left|Right Operating direction  [Right|Left| Left|Right|Right| Left| Left| Right
* There are 9 possible reciprocating piping methods. * There are 16 possible reciprocating piping methods.
Deflection of a piston rod by centre loading (Reference) \
When centre loading is added to the When centre loading is added to the
center of the housing center of the plate
E Deflection width
TITTiT77777
(mm)
Stroke Stroke
Model 100 200 Model 50 {100|150(200
Load (N) Load (N)
CXWL10 9.81 0.07 — CXWL10 2.94 0.06(0.30| — | —
CXWL16 39.2 0.05 0.20 CXWL16 4.90 0.03/0.10]0.25|0.45
CXWL20 49 0.04 0.15 CXWL20 7.84 0.03/0.09(0.18{0.35
CXWL25 68.6 0.03 0.10 CXWL25 9.81 0.03|0.09(0.16{0.25
CXWL32 98.1 0.02 0.07 CXWL32 29.42 0.02|0.05[0.10{0.15
Note) The factors show the total width of the
deflections in the vertical direction.
Z;SVC 2-93

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CXWL
Construction: Q1 0, ﬂ1 6, Q25

AIMOTION

CXWL10

CXWL16

CXWL25

Component Parts

0

HBA
\\

X

i
b

With end lock

Component Parts/With end lock

n°
(o]
g

ZSNC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl

No. Description Material Notes No. Description Material Notes

@ |Rod cover Aluminum alloy Anodized @) |Body for locking Aluminum alloy Hard anodized
@ |Rod cover A Aluminum alloy Anodized Lock finer Alloy tool steel Nickel plated after quenched
3 |Rod cover B Aluminum alloy Anodized @9 |Lock piston Carbon tool steel E'“‘;?"S?é&'é%kc?l&'a‘e‘i
@ |Housing Aluminum alloy Hard anodized Rod cover Aluminum alloy

® |Piston Aluminum alloy Chromated @D |Return spring Spring steel Zinc chromated
® |Piston rod High carbonate chrome bearing steel pipe | Quenched, Hard chrome plated @ Adjusting bolt Chrome steel Nickel plated
@ |Plate Aluminum alloy Hard anodized @3 Body gasket NBR

Lock nut Carbon steel Nickel plated Rod seal NBR

©® |Adijusting bolt Chrome steel Nickel plated @5 |Piston seal NBR

Set screw (For fixing rods) Chrome steel Nickel plated Steel ball High carbon chrome bearing steel

D[St ring (For fixing shock absorbers) Stainless steel @) |Steel ball High carbon chrome bearing steel

(2 |Setring Carbon tool steel Nickel plated Oring NBR

(3 |Plug Brass Nickel plated Round R set ring Carbon tool steel Nickel plated
Magnet Rare earth magnet a5 Lock nut Carbon steel Nickel plated
(5 |Set screw for seal Chrome steel Nickel plated Plug Chrome steel Nickel plated
Spring Stainless steel

1 |CR setring Carbon tool steel Replacement Parts: Seal kits

Round R set ring Carbon tool steel Nickel plated Model Kit No. Contents

Shock absorber — (RB0805-X552 or.RB1006-X552) CXWL10 CXWL10-PS A rod seal @, a piston seal
@ |Socket Brass Electroless nickel plated CXWL16 CXWL16-PS @ and a cylinder tube gasket
@) |Gasket NBR CXWL25 CXWL25-PS 26 are included in one set.
2 |Ball bushing — # The seal kit includes a rod seal @, a piston seal @3 and a

@ |Rod seal NBR cylinder tube gasket @. List the order numbers in compliance with the

2% |Piston seal NBR respetive models.

@ |Piston gasket NBR (The piston gasket @ is not replaceable.)

@0 |Cylinder tube gasket NBR



AIMOTION
Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series CXWL

Construction: on, ﬁ32

CXWL20

Vo
\. \ III| II'\
(» @2a a0
With end lock
CXWL32 @ @
@

i

13 LI
:Efl//’/; r
an !

L}
@ L
- T
e
1|
it
/ / / |
O ® G2
With end lock
Component Parts Component Parts/With end lock
No. Description Material Notes No. Description Material Notes
(@ |Rod cover Aluminum alloy Andized (D | Body for locking Aluminum alloy Hard andized
@ |Rod cover A Aluminum alloy Andized @ | Lock finger Alloy tool steel Nickel plating after quenched
(3 |Rod cover B Aluminum alloy Andized ® | Lock piston Tool steel pletad i ateacned
@ |Housing Aluminum alloy Hard andized @ | Rod cover Aluminum bearing alloy
(5 |Piston Aluminum alloy Chromated ® | Steel ball High carbon chrome bearing steel
® |Piston rod Hard carbon chrome bearing steel — ® | Steel ball High carbon chrome bearing steel
@ |Plate Aluminum alloy Hard andized (@ | Round R type set ring Carbon tool steel Nickel plated
(® |Adjusting bolt Chrome steel Andized (® | Return spring Spring steel Zinc chromated
(@ |Hex. socket head cap screw Chrome steel Andized ©® | Plug Chrome steel Nickel plated
{0 |Hex. socket head cap screw Chrome steel Andized @(1) ggb(gt?())lt(%s Hex. screw Chrome steel Nickel plated
1D |Setring Tool steel Andized -
(25) strokes |Hexagon nut Carbon steel Nickel plated
(2 |Magnet Rear earth 25 25, (50) 1o
@ |Spring Stainless steel @(1) 500 strokes | Adiusting bolt Chrome steel Nickel plated
@ |CR setring Carbon tool steel (25) strokes | Shock absorber — RB1411
@ |Round R set ring Carbon tool steel Nickel plated (2 | Body gasket NBR
(® |Ball bush — @3 | Rod seal NBR
17 |Shock absorber — RB1006-X552 or RB1411-X552 Piston seal NBR
(9 |Plug Chrome steel Nickel plated @® | Oring NBR
— -
© Hfax. socket head cap screw Stainless steel Note1) Factors in the parentheses are of CXWM32.
@) |Piston seal NBR
22 |Rod seal NBR .
2 | Piston gasket NBR Replacement Parts/With end lock
23 | Cylinder tube gasket NBR Model Kit No. Contents
CXWL20 CXWL20R-PS A body gaskgt (2, arod seal@, a
i piston seal (4 and an O ring (5 are
Replacement Parts/Seal kit CXWL32 CXWL32R-PS | included in one set. -
Model Order number : ngtents _ * The seal kit includes a body gasket (2, a rod seal @3, a piston seal @ and an
CXWL20 CXWL20-PS A piston seal @), a rod seal 7 O ring (5. List the order numbers in compliance with the respective models.
and a cylinder tube gasket 3 are
CXWL32 CXWL32-PS included in one set.

# The seal kit includes a piston seal @), a rod seal @ and a cylinder tube
gasket @. List the order numbers in compliance with the respective models.

(The piston gasket is not replaceable.)
ZSNC 2-95

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION

Series CXWL

©10 Basic Style: CXWL10-[Stroke/25 to 100]

P~
£ o -

52

40
28 +0.01

Max.8 10 z o 10 95
2 X 20417 9" *Depths Foo P N 4-03 2Through |
| 4-06.5 |
[ Depth of counter bore 3.3
N | o
T o™
3 | S A
k <
‘ @
T
)

L

LY
J\ i @& Y [ ¢
W

> |
A ?—_ T ﬁ
2 X 2-M4 Thread depth8 2-RB0805 -X552

Shock absorber

118

S S Y _Ma

B |
u
©
28 L 2-M5 Plug (M-5P)

Y

o Port on the housing side
Max.ZZ -
o - Q
.2‘2 i 2-@:2: Through ss S -
-06. by
Depth of counter bore 3.2 | TN ... B £
(o4 Holepitch) | 8
a
o
2-M8 X 1.0 \ 5.
Adjusting bolt \ | S; +,£
| L] = w A
19 - . e 15 ¢
i i i 6 i, j ]
. .
S R R MO i 0 s 4

Y =
/ a i R
/ l Q012 et e
3 L 4] o4H7 g Depth6é 4-M4 Thread depth 6
2-M5

4 positions for set screws for fixing shock absorbers (M4)

Cylinder port
A-Md Socket connecting port (2 positions for hexagon socket head cap plugs)
(mm)
Model F L P Q S SS z Y74
CXWL10-25 35.5 45 30 138 27 101 128 |165.5
CXWL10-50 38 70 50 188 52 126 178 | 2155
CXWL10-75 40.5 95 70 238 77 151 228 |265.5
CXWL10-100 43 120 90 288 102 176 278 | 3155
2-96 ZSNC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series CXWL

010 with End Lock: CXWL10-[Stroke/25 to 100R

2-M5 Hexagon socket head cap plug 105 5
(Cylinder port)
=
@' @ * % (mm)
: * 2 % Model 2z
4 +0.012 1092 2 X 2= - 188.5
End lock mechanism 22 10 04ur o Depth6 Dept  CXWL10-50R 238.5
T ! ' CXWL10-75R 288.5
e CXWL10-100R | 3385

56.5
52
40
[
I
&
® oo
(=
%ﬁ
-
37 |!
|
4D
L2
i

@ e
Lo
&
Q -3

P
\ 4-M4 4 positions for set screws for

Thread depth 6 fixing shock absorbers (M4)
2-M5 Plug (M-5P)

(Cylinder port) Max.8
Max.9 145, / @ __l

o|o|~ L © 4 e
D= = e
< @E i @ L=
|| oaws™ -
2 X 2-M4 Thread depth8 Max.ZZ

2 X 2-0417% Depths

Housing mounting,styleowit to switch Plate nﬁ%ﬁ%ﬁ?@with auto switch

CDBXWL10-[Stroke ["C® W -[Stroke|R CDPXWL1Q-[Stroke| , CDPXWL10-Stroke|R
@ @ o W0 O -4
B %? I e ey e =
| 5 : [ [='s] I ql g (=]
o - - = e H 1v =
= B o ]
0 $ @ b4 =
< 1t hdl
A ols. 40 4-03.2 Through Socket
M 4-06.5
2- 15 Depth of counter bore 3.3
Cylinder port
2-M Hexagon socket head cap plug
Note 1) The dimensions show D'AWiﬁd‘é@-porU (mm)
Auto switch Hw Ht Hv
D-A7, D-A8 23 15 10.5
D-F701, D-J79, D-J79W, DF7PW, 23 15 10
Auto switch 22 Magnet mounting block __D-F79F, D-F7BAL, D-F7NTL | "
D-A¥(1H, D-A80H YRR 15 9oy
B o 3 D-A73C, D-A80C 23 | 175 | 175
___'—"—DE — e e T iV, D-F7O0WV 23 55 [ 14T
-9 ® @ I ~ D-J79C 24 | 175 | 16 .
T T - Notb @} flor 25%stroke, 2 magfiats for auto switches are intaied———

‘%- | — 4}_ . .@i the housin@ g ~ | =

i
b e L=
e |

Note 1) The dimensions show D-E7CJA and D-E80A.
Note 2) For 25 stroke, 2 magnets for auto switches are
equipped to the magnet mounting block.

ZS\NC 2-97
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWL

o 1 6 Basic Style: CXWL16-Stroke/25 to 200 |

Max6 _, 12 z 12 2 X 2-M5

- - 4-04.3 Through Thread depth10
| / 4-08 Depth of counter bore 4.5
| o ]
— ¥ 2
_ —17 '

% O @ “\&./é

2 X 2-0547" §%2Depth®

2-RB0805-X552
Shock absorber
41 L

S |
05m7 80" 2-M5

- o / Cylinder port
¥

r e i " ----577———
O—+—F V¢ -

25
24

2 X 2-04.3 Through
2 X 2-08 Depth of counter bore 4.5

Max.2Z .
- Q
ss s .
9 F p=0.05 -
—1 (05H7 Hole pitch) o _2/
=/
(} < iy Q ol T T
2-M8 X 1.0 &8
@ Adjusting bolt\ | |-G+ - : &-| | |
—._5 " I—
P s W % ™| oy [}
& S “E £ 0 © o
2| R H/:Lg e N
AN 7
[ &{“:Ef / {2_ - {3 A i
0517 *59"2 Depth6 / 4 positions for set screws for fixing shock absorbers (M4)
5.5 7.5 4-M5 Thread depth 10
2 X 2-M5

(Hexagon socket head cap plug)

(mm)
Model F L P Q S SS 4 Y74
CXWL16-25 34.5 39 52 160 27 121 148 184
CXWL16-50 47 64 52 210 52 146 198 234
CXWL16-75 53 89 65 260 77 171 248 284

CXWL16-100 53 114 90 310 102 196 298 334

CXWL16-125 65.5 139 90 360 127 221 348 384

CXWL16-150 78 164 90 410 152 246 398 434

CXWL16-175 90.5 189 90 460 177 271 448 484

CXWL16-200 103 214 90 510 202 296 498 534

2-98 ZS\VC
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series CXWL

016 with End Lock: CXWL16-[Stroke/25 to 200 R

2-M5 Hexagon socket head cap plug

(Cylinder port) 9.6
. 3 (mm)

e S Model zz
D012 12 2 X 2-04.3ThroughCXWL16-25R 207
End lock mechanism 23 12 O5H7 0 Depth& ™7 /5 X 2-08Depth of CXWL16-50R 257
1 : CXWL16-75R | 307
s T 6 CXWL16-100R | 357
L 7 e CXWL16-125R | 407
J — Tl L CXWL16-150R | 457
NG ¢ D— ¢ ¢ 3 —+F) CXWL16-175R | 507
g AR e s Y CXWL16-200R | 557

K ©—\ @

4 positions for set screws
for shock absorbers (M4)

4-M5 Thread depth10

Max.6
Max.6 4 2-M5 Plug (M-5P) —‘]’°
_ AR ] \(Cylinder port) |
W=t & E =
o o "$' e R - | _
Iz' ¢ @ ~f
t":JSH?J'S'm?
2 X 2-M5 Thread depth10 Max.ZZ
BeilIE 2 X 2-05n70° "’ Depth6 2-RBO805-X552

le\lggusmg midanting style with auto switch \ Shock absorbep|ate mounting style with auto switch
BXWL16Stroke], @MLEW . CDPXWL16-[Stroke], CDPXWL16-[Stroke|R
ﬁ)_ . |

o |

)
= Q- g
- é"{.‘: -+—— —'—— —_——t | 1
A -Q} oy
& o
O P | P 8 .
1 - - I 3}
4-04.3 Through
0.5
7 = 46 4-08 Depth of counter bore 4.5 al 11
2-M5
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The difiensions shoW-R-A7 AEE: (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 12.5 15 D-A7, D-A8 23 15 10.5

D-F70C], D-J79, D-J79W, D-F7PW,

D-F70J, D-J79, D-J79W, D-F7PW, | 4 15 10
D-F79F, D-F7BA, D-F7NT

=] kEe | e D-F79F, D-F7BAL, D-F7NTL

nounting block

D-A75H; D-A80H == | 22 | 125945 it D-A700H, D-A80Huto switch 22 |H#s 9
D-A73C, D- A80C 23 15 17.5 : 2 " D-A73C, D-A80C 23 175 | 17.5
) —-f— JD-F70V, DFIE W ———or—%3 +125 | 15 D-F7EV, DF7WY._ (123 f18 | 14
1 D-J79C 24 15 17.5 D-J79C 24 17.5 16
Note 2) For 2 stroke, 2 magnets for au rSwitches relngpped ﬂ, te 2)I ;Etbr 25 strdke) 2 magnets for auto swj S '_“‘s'tﬁed in
Io the/magnet mounting block. — — the ing: = Ry
L b4 & & ¥ P le —2
l._‘: _T i - lc,4=____.9-_-1-l—jm—@—ﬁ—m— —]
Z SNC 2-99

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Series CXWL

ﬁ20 Basic Style: CXWL20-|Stroke/25 to 200 |

2 X 2-067*3'2 Depth 8
2 X 2-M6 Thread depth 12

14 z 14
F P =
4-0 5.5T_hr(£gm_
4-095
Depth of counter bore 5.5
o
Sr— () e —(P)- © @
g
SR ! R’ &
=
l I
bt e
b4 @ @)- )
S b ¥ |t ]
2-RB1006-X552 1
Shock absorber
42 L 2-M5
o ﬁH:{"g'O‘Z /Cylinder port
(=]
0 Pl
T (a1 -y
7] —ie— S o 5
o - ——
al 5 f =1
| s
2-M4 Thread depths /__[6|_ -
~
o
2 X 2-05.2 Through
2 X 2-09.5Depth of counter bore 5 77
2 X 4-M5 T ]
thread through Q
/From the opposite side ss & S
2 X 4-07.5 = 3 T
7, .55 Depth of counter bore 4.5 F P+0.5 g 2-M10 X 1.0
(0 6u7 oo Adjusting bolt
Hole pitch ) &
2 positions for set screws for —b— — - ©
fixing adjusting bolts (M5)
) i 8 | i
LN s
o o R o (3]
§ g |oeo6 -0 — 0@ Relr -
- \ \%’T
i w— —
| 4 positions for
22 Mo 11 4-M6 Thread depth9 0617*32'2 Thread depth8 \set screws for fixing
xagon socket head cap plug) shock absorbers
355 [
(mm)
Model F L B Q S SS z 2z
CXWL20-25 | 355 | 39 52 164 | 27 123 | 150 | 178
CXWL20-50 48 64 52 214 52 148 200 228
CXWL20-75 | 56.5 89 60 264 77 173 250 278
CXWL20-100| 54 114 90 314 102 198 | 300 | 328
CXWL20-125| 66.5 | 139 90 364 127 | 223 | 350 | 378
CXWL20-150| 79 164 90 414 152 248 400 428
CXWL20-175| 91.5 | 189 90 464 177 273 450 478
CXWL20-200| 104 | 214 90 514 | 202 298 | 500 | 528
2-100 ZS\VC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION

Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series

020 with End Lock: CXWL20-Stroke/25 to 200R

CXWL

(mm)
Model F L P Q S SS V4 Y74
CXWL20-25R 35.5 39 52 164 27 123 | 150 | 199
CXWL20-50R 48 64 52 214 52 148 | 200 | 249
CXWL20-75R 56.5 89 60 264 77 173 | 250 | 299
CXWL20-100R 54 114 90 314 | 102 | 198 | 300 | 349
CXWL20-125R 66.5 | 139 90 364 | 127 | 223 | 350 | 399
CXWL20-150R 79 164 90 414 | 152 | 248 | 400 | 449
CXWL20-175R 91.5 | 189 90 464 | 177 | 273 | 450 | 499
CXWL20-200R 104 | 214 | 90 | 514 | 202 | 298 | 500 | 549
8.5 6
0
; j
-
A X 2-M5 Hexagon socket head cap plug
(Cylinder port)
2 X 2-p5.2Through
2 X 2-09.5Depth of counter bore 5/
End lock mechanism 21 14 7
- F PE005 _  4-M8 Thead depin
o
(@ BHT -
FA——— N Hole pitch) B e
_{)_ -_— - —— —
a ) ) o
St
2(ele o9 6 O — o 6ok Oy
$ [ e e/ L
[4 positions for %
[RMcAcAmE K ;‘;o'e & 061714012 | 2-RBI006- X 552
fsing shock absorber S| Theaddepih8 Shock absorber
Il
X
w
42 L
0
by
r / S
wwn
@il © I
s ’——ﬁ o - ]
] f 'D_T no
o 2]
2-M5
012
Hexagon socket head cap plug  __| | ,_“;5_”7+8
4-MS Thread through 77
From the opposite side il aQ
4-07.5Depth of counter bore 4.5 55 5
F P 2 X 2-M6 ©011Depth21
55 17 - i A Thread depth 12 (An adjusting bolt /S
L 7
F |_| 2-M10X 1.0 M10 X 1.0 X 14Lto the plate)
| 2 positions for set screws for | Adjusting bolt
! /Tixing adjusting bolts (M5) O—  — —————
— B\ Héusing mounti le with auto switch SR ntjng styldwith switch
3( 2OES .“‘-iIQIJBXWLZO- CDBXWL 0-[Stroke|R C 20r[Stroke ,C|D /L20-[Stroke|R
K9] | Gk I <3 I
b4 (B — e (@) e (I Tg 1 L
, | Ral 0 L_
2-M5 mt;:_. 2% 2-@6H7+§°‘E o |
- Cylinder port L 5 | 4-05.5Through Depthe 6 14
155 | 4-09.5 Depth of counter bore 5.5 SR o tockek hediisa kit
(Cylinder port)
Auto switch _ ) Magnet mounting block e ; Hhe
Note 1) The glipfd#isigns show D- d ) Note 1) The diHiBAYIBHR show D-A (mm)
Auto switch Hw Hs Ht T Auto switch Hw Ht Hv
e i 23 [ 125 [ 15 * D-A7, D-A8 Bl 15 [ 105
D-F70J, D-J79, D-J79W, D-F7PW, | o3 | 105 | 15 of D-F70J, D-J79, D-J79W, D-F7PW, | 2 | 15 | 1o
D-F79F, D-F7BAL, D-F7NTL i D-F79F, D-F7BAL, D-F7NTL
D-A7CH, D-hsoH —— J22 [ 125 | 15 _ lﬂﬁu D-ASDH | =22 ] o
D-A73C, D-A80C 23 15 | 175 {-@ D-A73C, D-A80C 23 | 175 | 175
D-F70IV, D-F7TOWV [—m 125 | 15 o D-h:]v D-F7TOWV | L 2a [ FA| 14
D-J79C 15 | 175 175 | 16 4
for auto sv&bes i

KEMM 2 magnetsi_rl auto switches
otion B.@reNgquipereedhemagsss mpatinigt hivek. | The Netheramm

t+31 (

a3 instab@hRtipheusing.

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CXWL

AIMOTION

Q25 Basic Style: CXWL25-| Stroke/25 to 200 |

2 X 2-M6Thread depth 12 6 _ z - 16 Max.6
2 X 2-06H7*3°'? Depth8 E [ 4-05.5 Through )
i 4-095
Depth of counter bore 5.5
I o 7 #
r/ g
; 2-M10 X 1.0
T A Adjusting bolt
2| l
[ [=]
e me
I \\
| —H]
ey @ : © \ o
; ; S \
\ 2-RB1006-X552
Shock absorber
43.5 L
o6H7' §7'2 2-Rc(PT) V%
| / Cylinder port
4] T .
Py |
IR \ € &
+— e =] ]
L A 3
2 X 2-05.2 Through . Max.ZZ
2 X 2-09.5 Q
Depth of counter bore 5
ss __ ]
E p+0.05 g
| (@6H7Hole pitch )
s
: o o 6 QT
|| @‘ 8 ] @_
| ”h is )
Te) I~ p ~ o B _I“(B
] o U] @ fz@ @ % @k o [l
1 \ = 3
@ : g @
' - A
3 + +i\- ‘
[ @ -\ = ~ ©
2 X 2-Re(PT) % / 4-M6 Thread depthi2 / \ 56H7+3'°‘QDepth_8_ :x?:sﬂsgzkfjbss? ;Z:ﬁv::ﬂ;r
Plug (R(PT) &) .
(mm)
Model F L P Q S SS Z 2z
CXWL25-25 31.5 41 65 171 27 128 155 199
CXWL25-50 31.5 66 90 221 52 153 205 249
CXWL25-75 56.5 91 65 271 77 178 255 299
CXWL25-100 56.5 116 90 321 102 203 305 349
CXWL25-125 69 141 90 371 127 228 355 399
CXWL25-150 81.5 166 90 421 152 253 405 449
CXWL25-175 94 191 90 471 177 278 455 499
CXWL25-200 106.5 | 216 90 521 202 303 505 549
2-102 2 SNC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl




AIMOTION
Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series CXWL

025 Wwith End Lock: CXWL25-Stroke/25 to 200R

2-Rc(PT) s

Plug RPN, oo

(Cylinder port) |
w + +
&He

@ +oid 16 2 X 2-05.2Through
I i 96170 Depth8 2 X 2-095
End lock mechanlsm\i__23 i16 S-RBIOOB-X552 [ -—‘ Derth of colex bore
e—r—=+T) Shock absorber |
Y i @ @‘ (mm)
| ' -8 - T—Jet Model 2z
o| < P =Py ~L h CXWL25-25R 222
®) @ = e e s CXWL2550R | 272
| 3o | — CXWL25-75R | 322
| I — e () CXWL25-100R | 372
\i—MS 4 positions for set screws for CXWL25-125R | 422
Thread depth 12 fixing shock absorbers (M5) CXWL25-150R | 472
ey CXWL25-175R | 522

Max.6 43.5 Plug (RIPT)%) Max.6 CXWL25-200R 572
(Cylinder port)

)

A TR

2 X 2-M6 Thread depth12
2 X 2-964"5"?Depth8 i

2-M10 X 10
Ac'justing bolt

j
ol4
oo

@
™~

s
5000

67
34.5

- 41
&

L LBl el 8 o

*——— . 4-05 .5 Through
2-Rc(PT) % ,—‘OEI:' 51 L 2-Re(PT) %
Cylinder port Depth of counter bore 5.5 Plug (R(PT)'a)
(Cylinder port)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWL25 -[Stroke|, CDBXWL25-[Stroke|R CDPXWL25-[Stroke], CDPXWL25-[Stroke|R
Auto switch Hw Magnet mounting block 3 Auto switch
| | g5 7 i
g |
i
Izt«.:i—%‘_- '
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 12.5 15 D-A7, D-A8 23 15 10.5
D-F70], D-J79, D-J79W, D-F7PW, 23 125 15 D-F70], D-J79, D-J79W, D-F7PW, 23 15 10
D-F79F, D-F7BAL, D-F7NTL ' D-F79F, D-F7BAL, D-F7NTL
D-A7C0H, D-A80H 22 12.5 15 D-A7C1H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 17.5
D-F701V, D-F7C0WV 23 12.5 15 D-F701V, D-F700WV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16
Note 2) For 25 stroke, 2 magnets for auto switches are equipped Note 2) For 25 stroke, 2 magnets for auto switches are installed in
to the magnet mounting block. the housing.

Z SNC 2-103
Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CXWL

AIMOTION

ﬂ32 Basic Style: CXWL32-| Stroke/50 to 200 |

2 X 2-M8
Thread depth 15 20 Z 20
| I
2X 2-98H?*8-°‘5Depth12\.- . I P i AeoBTvough
; [4-011
\ | / Depth of counter bore 7
i 92N : o
[ P - -
5 @ é >
I | -—
5 H |
o/ R f & . 9l g
— O s i o %
R 3 i : T ,_|
I. | | “l _
¢ | | \ o
1 ——10 @ -— '"—*@——'T-—- Rod
L]
\
2-RB1411-X552 Shock absorber |
30 . L 2-Rc(PT)'%
asmfno_ﬁ'j | Cylinder port
/ )|
| | 1
= | ] e o
1 L0 o F A T
g2 oS 5 d—Tor| +
3 P i
' T
o
2-M6 Thread depth7/ 10
2 ¥ 2-06.9 Through ZZ 2-Mi14 X 1.5
2 X 2-011 \ [ Q [ Adjusting bolt
Depth of counter bore 6.5 | SS S |
24.5 5 | 41 P +005
2 positions for set screws for 2 X 4-M6 Thread depth | (0847 Hole pitch)
fixing adjusting bolts (M8) \ /From the opposite side /
2 X 4-09.5 7 oy /
Depth of counter bore 5.4 2l ©-- G ®]
’ o . o {819
T O~ | 2™ lﬁ.‘.
1 1 1 a 3
4 PR E 8 a0t 8¢ 8
Y 1 (] e
' ¢ N I \=EHe
T L : '\
Fran) I':— D __¢
QO P -8 ©
/ /
2X2-Rc(PT)ls ‘ 115 4-M8 Thread depth15 ;’ \\ 08170 °Depth12 \4 positions for set screws for
Plug (R(PT)}s) 205 fixing shock absorbers (M5)
(mm)
Model L P Q S SS Z Y74
CXWL32-50 102 80 234 52 162 214 254
CXWL32-75 127 105 284 77 187 264 304
CXWL32-100 152 130 334 102 212 314 354
CXWL32-125 177 155 384 127 237 364 404
CXWL32-150 202 180 434 152 262 414 454
CXWL32-175 227 205 484 177 287 464 504
CXWL32-200 252 230 534 202 312 514 554
2-104 ZSNC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series CXWL

032 Basic Type: CXWL32-[25 Stroke

2 X 2-M8 Thread15 20 164 - 20
Ry S r—— M 55 4-06.9 Through

2 X 2-0817 '3 Depthl2 || a e ‘ ‘

\ ‘ Depthofmunterbore?I |

——1— [

30 77 2RclPTs
'-.__-T. 08178015 1/ Cylinder port
. fll g
- N e
1 LDI o \il 1 &
JTET 8 G e
=3 8| ?’ ™) - — T
[ |
W
2-M6 Thread depth7 | |10
2 X 2-06.9Through 204 . Max.48 . Shock absorber
2 X 2-o11Depth of counter bore 6.5, |~ 184 | RB1411
i 137 s 197 L Mi4X15
2 positions for set screws for | 41 _,_ 55005 ' | 1 (Single housing installed)
245 75 fixing shock absorbers (M5) \"-. (08n7 Hole pItC|'|I) i ‘ |
. 2 X 4-M86 Thread through 1 ‘ ! | Mi4 X 1.5
| /From the opposite side e {"} — W
2 X 4-09.5 i : 1
Depth of counter bore 5.4 @ H 1]0
T T T o
8 | e ¥ g
® : N 8]
. © T
| b ]
L O e —
,. P20
' I[ | 4-M8 / \&Bm_‘g:”_ Depth 12 1 position for set screws for
2 % 2-Rc(PT) % / 15 Thread depth 15 fixing an adjusting bolt
Plug (R(PT)}) / 205
%SNC 2-105

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CXWL

Q32 With End Lock: CXWL32-|Stroke/50 to 200 R

2-Rc(PT))

Plug (R(PT) )
(Cylinder port)

AIMOTION

145
4\
=
Tl )
= RB1411-X552 Shock absorber
End lock mechanism 20 Z -29 2 X 2-06. 9Thrcugh
\ e, P | /2 x 2011
| (eBHwHoie pitch) f Depth of counter bore 6.5
| 5 [ A
| S— '
b i bl L]
' y i) &
""l'ln':l)"" St ¢
Y e
é - _?__I“_\.._ - @
Y \
.".l I\, e
4-M8 Thread depthis, \ |4 positions for set screws for
GBH?+8'D12Depth L%.\J \fixing shock absorbers (M5) (mm)
Model L P Q S SS z zz
2-Rc(PT) % CXWL32-50R 102 | 80 [ 234 | 52 | 162 | 214 | 254
30 L aif"l'Jg_( _(T:ﬁ',g)' CXWL32-75R 127 | 105 | 284 | 77 | 187 | 264 | 304
. / " (Cylinder port) CXWL32-100R | 152 | 130 | 334 | 102 | 212 | 314 | 354
o i ! VAR CXWL32-125R | 177 | 155 | 384 | 127 | 237 [ 364 | 404
i 5 [ -
Uz 58" & [,% * é;_ —a— ] CXWL32-150R | 202 | 180 | 434 | 152 | 262 | 414 | 454
1 I CXWL32-175R 227 205 484 177 287 464 504
o8Hr 89 | | S | 9 CXWL32-200R | 252 | 230 | 534 | 202 | 312 | 514 | 554
2 X 2-M8Thread depthts 283 4
ST Q 2-M14 X 1.5
2 X 2-08H7 0 Depthr\ | [ ) S ; LAdjusting bolt 2
75, .. ..245 |4 P _ t [ 015 Depth28.5
2 positions for set screws | | 4-M6 Thread through Pl ! | / (An adjusting bolt M14 X 1.5
for fixing adjusting bolt (M8, | From the opposite side | [ / [ X 20L to the plate)
1 4-09.5 Depth of counter bore 5.4 ﬁ_—@_ — { ¢ "
1 | |
! 11 ] [l &
[ =] | =T a
5| 8 | —E82 H 38 8
q L 1 414
~ _ & = |
& O 5]
! 4-@@9.@2@ .
15 \2 X 2-Rc(PT)!a | 65 \ 4-011 Depth of counter bore7 1] 15\ 2-Rc(PT))s
505, | | Cylinder port e Plug (RPT)'4)
(Cylinder port)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWL32-[Stroke|, CDBXWL32-Stroke R CDPXWL32-[Stroke|, CDPXWL32-Stroke R
Auto switch HW Magnet mounting block Ht Auto switch HW
=
i E
- = —
ool 2 1 —
T
o™ | = of | [ ==
¥ = 9 =
[ iy Il - =
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Ht Hv
D-A7, D-A8 23 | 125 [ 15 D-A7, D-A8 23 | 15 [ 105
D-F700, D-J79, D-J79W, D-F7PW, D-F70J, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7TNT el S D-F79F, D-F7BA, D-F7NT B e e
D-A700H, D-A80H 22 [ 125 [ 15 D-A700H, D-A80H 22 | 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7O0WV 23 | 125 [ 15 D-F701V, D-F7TO0WV 23 | 15 | 14
D-J79C 24 | 15 [ 175 D-J79C 24 | 175 | 16

2-106

Note 2) For 25 stroke, the shock absorber is mounted
on a single side of the plate. Refer to p.2-107 for
the dimensions of the 25 stroke.

7

SMVC

Note 2) For 25 stroke, the shock absorber is mounted
on a single side of the plate. Refer to p.2-107
for the dimensions of the 25 stroke.

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



AIMOTION
Slide Unit/Ball Bushing Bearing: Built-in Shock Absorber Series CXWL

032 With End Lock: CXWL32-[25 Stroke IR

(Cylinder port) %D
2-Rc(PT)1/8 o\ il

Plug(R(PT)1/8) r;_-. 1

= RB1411-X552Shock absorber

End lock mechanism 20, 164 /20 2X2-06.9 Through
1

41 . 55%0.05 | )./2 X 2-e11Depth of counter ore 6.5
\ (e8n7Hole Titch) /
e o /
[ T [ : 1\5 + __ff_g;_f
gn| | } * | | ©
@?;8‘ i S e o
| | éh gmi ! '\'\ \\ —Té
| Y [ & h &t \
f e @l S0 P {c]

4-MBThread depth 15,"; \ 2 positions for set screws for

\ fixing shock absorbers (M5)

+0.015

08 H7 O
Depth12
2-Rc(PT) e
. 77 _ [PlugRPD%)

oo ] | i7 —
Qwirgl i Ut
BN 1 O gi B—+
[ ]
o wn
P ad | A
Max.19.5_. 285 204
2 X 2-M8Tread depthi5 | | 184 T M4X15
2 X 2-08u7 "3 [ 137 ; 27 | Adjusting bolt
Y - ] At 55 ; /
1 position for a set screw | Depthi2 i ' | '/
for fixing an adjusting boit M4 X 1.5 | ‘ ||/
RB1411 ™ el >
: | T [oF——
Shock absorber g @ @_ & T
| 11T |
) ' B AN "
[=} S in|
4-M6 ﬁ 9 }_‘ mut- L ) g;-vuoji 8 @
Thread through ) | ! BE [ ,
From the opposite side w9 & | | : |
1 '@' Lq
4095 ““1'.__ o @— e—' & 1]
| T \ Depth of counter bore 5.4 ¥—|;L \ 4-06.9Through ==
15 \2-Rc(PT)% | 65 \4-11 Depth of counter bore 7 1 | 15
205 \(Cylinder port) e
S el WHITRE P 2-Rc(PT) &
Plug (R(PT)!s)
(Cylinder port)
Housing mounting style with auto switch Plate mounting style with auto switch
CDBXWL32-25, CDBXWL32-25R CDPXWL32-25, CDPXWL32-25R
Auto switch Magnet mounting block
Hw Ht : Hw
E e Auto switch
“Ha—T :& .
[Te] ) 3 gy
ﬁ.‘l g
® BE= b — T _F
= @ ==
iy _g : = t ‘L:,—_ el —
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch Hw Hs Ht Auto switch Hw Hit Hv
D-A7, D-A8 23 [ 125 | 15 D-A7, D-A8 23 15 | 105
D-F70J, D-J79, D-J79W, D-F7PW, D-F70J, D-J79, D-J79W, D-F7PW,
D-F79F, D-F7BA, D-F7TNT S D-F79F, D-F7BA, D-F7NT | ' | W
D-A7C0H, D-A80H 22 [ 125 [ 15 D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 [ 175 | 175
D-F701V, D-F7O0WV 23 [ 125 [ 15 D-F701V, D-F7O0WV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 [ 175 | 16
Note 2) 2 magnets for auto switches are equipped to the Note 2) 2 magnets for auto switches are installed in the
magnet mounting block. housing.
4 S\VC 2-107

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl



Series CX

Auto Switch Specifications

Refer to p.6-15 for fu

2-108

AIMOTION

rther information on auto switches.

Applicable auto switches

L1

Applicable cylinder Auto switch Electrical entry/Function
D-A7/A8 Grommet
Reed D-A7CIH/A80H Grommet
switch D-A73C/A80C Connector
D-E7CJIA/E80A Grommet/Direct mounting
CXWM, CXWL D-F700J79 Grommet
210, 816, 620 D-F70O0W/J79W Grommet/2 colour
( 925, 832 ) Solid D-F7CIF Grommet
state D-F7BAL Grommet/Water resistant
switch D-F7NTL Grommet/With timer
D-F701V Grommet
D-J79C Connector
D-F7CWV Grommet/2 colour

Note 2) Solid state switches are not mountable to the housing mounting 210.

Q Note 1) Only housing mounting @10 is possible for the auto switches D-E7CJA and D-E80A.

Note 3) D-F7LF is not mountable to Series CDPXW.

ZSNC

Almotion B.V. Nijverheidsweg 14 | 6662 NG Elst (Gld) | The Netherlands t +31 (0)85 0491 777 e info@almotion.nl

www.almotion.nl | www.linearmotion.nl | www.lineairegeleiding.nl




